
   ਵਵਵਗਆਨ ਪਰਤਤਭਭ ਵਸਖਲਭਈ ਇਕਭਈ

LU 8.14.  ਕਕ ਤਤੁਹਹਾਡਡੀਆਆ  ਬਹਹਭਹਜਜਵਵ (Polygons)  ਸਮਰਰਪ ਹਨ?

LU 8.14. Is Your Polygon the Same as Mine?

Overview

ਸਜਰ
In  this  Learning  Unit,  students  will  explore  the  minimum conditions  needed to  construct  a
unique triangle or a quadrilateral, and other polygons. The objective of this Learning Unit is for
the  students  to  realize  for  themselves  that  the  conditions  which  enable  drawing  a  unique
polygon are the same as the conditions of congruency they have studied. 

   ਇਸ ਵਸਖਲਭਈ ਇਕਭਈ ਵਵਵਚ,     ਵਵਵਦਆਰਥਤ ਵਵਲਵਖਣ ਵਤਕਕਣ (Triangle),   ਚਤਤਰਭਤਜ (Quadrilateral)    ਅਤਤ ਹਕਰ ਬਹਤਭਤਜ

(Polygon)    ਬਣਹਾਉਣ ਲਈ ਜਰਰਰਡੀ ਨਨਮਨਤਮ ਸਰਤਹਾਆ   ਦਡੀ ਪੜਚਚਲ ਕਰਨਗਗ   । ਇਸ  ਨਸਖਲਹਾਈ ਇਕਹਾਈ    ਦਹਾ ਉਦਗਸ ਨਵਨਦਆਰਥਡੀਆਆ ਨਰਨ
      ਇਹ ਅਨਹਸਹਾਸ ਕਰਹਾਉਣਹਾ ਹਹ ਨਕ ਨਜਹੜਡੀਆਆ ਸਰਤਹਾਆ  ਨਵਲਲਖਣ ਬਹਤੁਭਤੁਜ      ਨਰਨ ਨਚਲਤਰਣ ਦਗ ਯਚਗ ਬਣਹਾਉ ਆਦਡੀਆਆ ਹਨ,   ਉਹ ਸਮਰਰਪਤਹਾ

(Congruence)  ਦਡੀਆਆ ਸਰਤਹਾਆ        ਹਨ ਨਜਨਨਹਾਆ ਦਹਾ ਉਨਨਹਾਆ ਨਗ ਅਨਧਐਨ ਕਡੀਤਹਾ ਹਹ  ।

Minimum time

ਘਘਟਟਟ-  ਘਘਟ ਸਮਵ

Triangle activity (Tasks 1 to 5)– Two sessions of 40 minutes each
Quadrilateral activity (Task 6)– Two sessions of 40 minutes each
Extension to other polygons (Tasks 7 to 9)– One session of 40 minutes

 ਵਤਕਕਣ (Triangle)  ਵਕਵਰਆ (ਕਭਰਜ 1 to 5)– 40     ਵਮਮਟਟ ਦਤ ਦਕ ਸਸਸਨ

 ਚਤਤਰਭਤਜ (Quadrilateral)  ਵਕਵਰਆ (ਕਭਰਜ 6)–  40    ਵਮਮਟਟ ਦਤ ਦਕ ਸਸਸਨ

   ਹਕਰ ਬਹਤਭਤਜਭਵਟ (Polygons)   ਵਵਵਚ ਵਵਸਤਭਰ (ਕਭਰਜ 7 to 9)–  40    ਵਮਮਟਟ ਦਭ ਇਵਕ ਸਸਸਨ

Type of Learning Unit: Classroom

 ਸਸਖਲਜਈ ਇਕਜਈ : ਕਲਭਸਰਰਮ-ਅਧਭਰਤ

Introduction

ਜਜਣ-ਪਛਜਣ
Have you ever wondered how you would describe a triangle that is in your mind to
somebody over the phone? What do you really say? Do you mention the sides or the
angles?  And would  that  person get  the exact  same figure  that  you  had in  mind?
Moreover, how can you do this by giving minimum information? Today we will try to
answer these questions by investigating some examples, making observations, and
verifying or refuting these observations.

            ਕਡੀ ਤਤੁਸਸ ਕਦਗ ਸਚਨਚਆ ਹਹ ਨਕ ਤਤੁਸਸ ਨਕਸਗ ਨਰਨ ਫਚਨ ਤਗ ਨਤਕਚਣ (Triangle)    ਦਹਾ ਵਰਣਨ ਨਕਵਵ ਕਰਚਗਗ,      ਜਚ ਤਤੁਹਹਾਡਗ ਨਦਮਹਾਗ ਨਵਲਚ ਹਹ?  ਤਤੁਸਸ ਕਡੀ
ਕਹਚਗਗ?     ਕਡੀ ਤਤੁਸਸ ਭਤੁਜਹਾਵਹਾਆ (ਪਹਾਨਸਆਆ)     ਜਹਾਆ ਕਚਣਹਾਆ ਦਹਾ ਨਜਕਰ ਕਰਚਗਗ?           ਅਤਗ ਕਡੀ ਉਸ ਨਵਅਕਤਡੀ ਨਰਨ ਉਹਡੀ ਅਹਾਕਹਾਰ ਨਮਲਗਗਹਾ ਨਜਹੜਹਾ ਤਤੁਹਹਾਡਗ ਮਨ

 ਨਵਲਚ ਸਡੀ?   ਇਸ ਤਤ ਇਲਹਾਵਹਾ,   ਤਤੁਸਸ ਇਹ ਘਲਟਤ-        ਘਲਟ ਜਹਾਣਕਹਾਰਡੀ ਦਗ ਕਗ ਨਕਵਵ ਕਰ ਸਕਦਗ ਹਚ?      ਅਲਜ ਅਸਸ ਕਤੁਝ ਉਦਹਾਹਰਣਹਾਆ ਦਡੀ ਪੜਤਹਾਲ, ਨਨਰਡੀਖਣ,
                 ਅਤਗ ਇਹਨਹਾਆ ਨਨਰਡੀਖਣਹਾਆ ਦਡੀ ਤਸਦਡੀਕ ਕਰਕਗ ਜਹਾਆ ਇਹਨਹਾਆ ਦਹਾ ਖਨਡਨ ਕਰਕਗ ਪਪਸਨਹਾਆ ਦਹਾ ਜਵਹਾਬ ਦਗਣ ਦਡੀ ਕਚਨਸਸ ਕਰਹਾਆਗਗ।
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Unit-specific objectives

  ਇਕਜਈ ਸਸਬਸਧਕ ਉਦਦਸ਼
• To establish a connection between congruence and the construction of unique triangles
• To  find  the  number  of  conditions  necessary  to  ensure  congruence  of  triangles,

quadrilaterals, and other polygons
• To understand why certain sets of conditions are not criteria for congruence
•   ਵਵਲਵਖਣ ਵਤਕਕਣਟ (Triangles)            ਦਤ ਉਸਭਰਤ ਅਤਤ ਸਮਰਰਪਤਭ ਦਤ ਵਵਚਕਭਰ ਇਵਕ ਸਮਪਰਕ ਸਥਭਪਤ ਕਰਨ ਲਈ

• ਵਤਕਕਣ,   ਚਤਤਰਭਤਜ (Quadrilateral)     ਅਤਤ ਹਕਰ ਬਹਤਭਤਜਭਵਟ (Polygons)       ਦਤਆ ਇਕਰਰਪਤਭ ਨ ਯਕਤਨਤ ਬਣਭਉਣ ਲਈ

    ਲਕੜਤੜਦਤਆ ਸਰਤਟ ਦਭ ਪਤਭ ਲਗਭਉਣਭ

•            ਇਹ ਸਮਝਣ ਲਈ ਵਕ ਕਤਝ ਸਰਤਟ ਇਕਰਰਪਤਭ ਲਈ ਮਭਪਦਮਡ ਵਕਉੜ ਨਹਤੜ ਹਨ

Links to curriculum

  ਪਜਠਕਰਮ ਦਦ ਸਲਸਕ

• Congruence of Triangle (NCERT Mathematics Textbook Class 7) ,
• Practical Geometry (NCERT Mathematics Textbook Class 8), 

Prerequisites

 ਅਗਜਉਟ ਜਜਣਕਜਰਕ
Students should be familiar with:

  ਵਵਵਦਆਰਥਤ ਜਭਣਰ ਹਕਣ:
• Use of geometric tools like scale and compass
• Basic construction of triangles and quadrilaterals
• ਰਤਖਭ-  ਗਵਣਤਕ (ਵਜਓਮਸਵਟਰਕ)    ਸਭਧਨਟ ਵਜਵਤੜ ਪਸਮਭਨਭ (ਸਕਤਲ)     ਅਤਤ ਪਰਕਭਰ ਦਤ ਵਰਤਕੜ

•     ਵਤਕਕਣ ਅਤਤ ਚਤਤਰਭਤਜ ਦਭ ਵਨਰਮਭਣ

Materials

 ਲਟੜਕਟਦਜ ਸਮਜਨ
Blank  sheets,  pencils,  erasers,  compass-boxes  (compass,  set-squares,  protractor,  and  scale),
scissors.

 ਖਹਾਲਡੀ ਪਨਨਗ , ਪਹਨਨਸਲ, ਰਲਬੜ, ਪਰਕਹਾਰ-  ਬਕਸਹਾ (ਪਰਕਹਾਰ, ਸਸਟ-ਵਰਗ, ਪਪਚਟਹਕਟਰ  ਅਤਗ ਪਹਮਹਾਨਹਾ), ਕਕਚਡੀ।

Task 1: Drawing your triangle

 ਕਜਰਜ 1:   ਆਪਣਜ ਸਤਕਟਣ (Triangle) ਬਣਜਉਣਜ
Q1. Draw a triangle of your choice on the given blank sheet of paper. Measure the sides and the
angles of the triangle, and label the vertices of the triangle.
ਪਰਸਨ 1.            ਕਭਗਜ ਦਤ ਵਦਵਤਤ ਗਈ ਖਭਲਤ ਸਤਟ ਤਤ ਆਪਣਤ ਪਸਮਦ ਦਭ ਵਤਕਕਣ ਬਣਭਉ          । ਵਤਕਕਣਟ ਦਤ ਭਤਜਭਵਟ ਅਤਤ ਕਕਣਟ ਨ ਮਭਪਕ ਅਤਤ ਵਤਕਕਣ

  ਦਤ ਕਕਣਵਬਮਦਰ (Vertex)   ਨ ਲਤਬਲ ਕਰਕ।

Before the students begin working on this activity, make sure they are sitting in pairs.

Each task requires discussing with another student,  and in this unit,  we often refer to these
students in pairs as partners. Make sure they all have required materials or at least that every
pair has one set of scale and compass.

   ਵਵਵਦਆਰਥਤ ਇਸ ਗਤਤਵਵਧਤ '                ਤਤ ਕਮਮ ਕਰਨਭ ਅਰਮਭ ਕਰਨ ਤਕੜ ਪਵਹਲਟ ਇਹ ਸਤਵਨਸਵਚਤ ਕਰਨ ਵਕ ਉਹ ਜਕਵੜਆ ਵਵਵਚ ਬਸਠਤ ਹਨ।
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           ਹਰਤਕ ਕਭਰਜ ਲਈ ਦਰਸਰਤ ਵਵਵਦਆਰਥਤ ਨਭਲ ਵਵਚਭਰ ਵਟਟਦਰਤ ਦਤ ਲਕੜ ਹਤਮਦਤ ਹਸ ,       ਅਤਤ ਇਸ ਇਕਭਈ ਵਵਵਚ ਅਸਤੜ ਅਕਸਰ

     ਵਵਵਦਆਰਥਤਆ ਨ ਜਕੜਤਦਭਰ ਵਜਕੜ ਸਮਬਕਵਧਤ ਕਰਟਗਤ             । ਇਹ ਸਤਵਨਸਵਚਤ ਕਰਕ ਵਕ ਉਹਨਭ ਸਭਵਰਆ ਕਕਲ ਲਕੜਤੜਦਭ ਸਮਭਨ ਹਸ ਜਟ ਘਵਟਕੜ-ਘਵਟ
    ਹਰਤਕ ਜਕੜਤ ਕਕਲ ਇਵਕ ਪਰਕਹਾਰ-ਬਕਸਹਾ ਹਕਵਤ   ।

This activity will give you a chance to see whether students can draw triangles, measure sides
and angles, and also, whether they know how to label a triangle. See Figure T1 for an example of
a  student  writing  the  angle  of  a  triangle  adjacent  to  a  side  instead  of  a  vertex  when  we
conducted this activity with Class 8 students.

                    ਇਹ ਗਤਤਵਵਧਤ ਤਤਹਭਨ ਇਹ ਜਭਣਨ ਦਭ ਮਮਕਭ ਦਤਵਤਗਤ ਵਕ ਵਵਵਦਆਰਥਤ ਵਤਕਕਣ ਬਣਭ ਕਤ ਉਸਦਤ ਭਤਜਭਵਟ ਅਤਤ ਕਕਣਟ ਨ ਮਭਪ ਸਕਦਤ ਹਨ,
           ਅਤਤ ਕਤ ਉਹ ਜਭਣਦਤ ਹਨ ਵਕ ਵਤਕਕਣ ਨ ਲਤਬਲ ਵਕਵਤੜ ਕਰਨਭ ਹਸ    । ਅਸਤੜ ਕਲਭਸ 8       ਦਤ ਵਵਵਦਆਰਥਤਆ ਨਭਲ ਵਤ ਇਹ ਗਤਤਵਵਧਤ ਕਤਤਤ,

   ਉਦਭਹਰਣ ਲਈ ਵਚਵਤਰ ਟ 1 ਵਤਖਕ,         ਵਜਸ ਵਵਵਚ ਵਵਵਦਆਰਥਤ ਨਤ ਵਤਕਕਣ ਦਭ ਗਲਤ ਲਤਬਲ ਕਤਤਭ।

Q2. Now see the triangles drawn by your friends. Do you see anything interesting? What is it?
ਪਰਸਨ 2.       ਆਪਣਤ ਦਕਸਤਟ ਦਤਆਰਭ ਬਣਭਏ ਵਤਕਕਣਟ ਨ ਦਤਖਕ     । ਕਤਵਝ ਵਦਲਚਸਪ ਨਜਰਆਇਆ?   ਉਹ ਕਤ ਹਸ?
______________________________________________________________________________________________________

Keep the paper on which you drew your triangle safely aside;  we will  be coming back to this
triangle later in the activity.

          ਵਜਸ ਕਭਗਜ ਤਤ ਤਤਸਤੜ ਵਤਕਕਣ ਬਣਭਈ ਹਸ ਉਸਨ ਸਮਭਭਲ ਕਤ ਰਵਖਕ,          ਅਸਤ ਇਸ ਗਤਤਵਵਧਤ ਦਕਰਭਨ ਬਭਅਦ ਵਵਵਚ ਦਤਬਭਰਭ ਇਸ ਵਵਲ ਆਵਟਗਤ।

Task 2a: Constructing a triangle when only one side is given

 ਕਜਰਜ 2 ੳ:  ਸਤਕਟਣ ਬਣਜਉਣਜ-      ਜਦਟਟ ਕਦਵਲ ਇਘਕ ਭਹਜਜ ਸਦਘਤਕ ਹਟਵਦ
Draw a triangle on the given paper, one of whose side is 6 cm. Label the vertices of your triangle.

     ਵਦਵਤਤ ਕਭਗਜ ਤਤ ਇਵਕ ਵਤਕਕਣ ਬਣਭਓ,      ਵਜਸਦਤ ਇਵਕ ਭਤਜਭ ਦਤ ਲਮਬਭਈ 6  ਸਸੜਟਤਮਤਟਰ ਹਕਵਤ   । ਕਕਣਵਬਮਦਰਆ (Vertices)   ਨ ਲਤਬਲ ਕਰਕ।

Students might ask a question, whether all the sides of the
triangle are 6 cm, and a productive answer to this question
is to say "No". For the purpose of our activity, it is best not
to get equilateral triangles. You can respond to them as,
"One  of  the  sides  of  the  triangle  is  6  cm,  and  not  all".
Despite this, a student might draw an equilateral triangle,
and we discuss later, how to handle such a situation.  

     ਵਵਵਦਆਰਥਤ ਇਵਕ ਪਰਸਨ ਪਤਵਛ ਸਕਦਤ ਹਨ,        ਵਕ ਕਤ ਵਤਕਕਣ ਦਤ ਸਭਰਤ ਪਭਸਤ 6
  ਸਸੜਟਤਮਤਟਰ ਹਨ ?         ਅਤਤ ਇਸ ਪਰਸਨ ਦਭ ਇਵਕ ਚਮਗਭ ਉਤਰ ਹਸ,  "ਨਹਤੜ"      । ਸਭਡਤ ਗਤਤਵਵਧਤ ਦਤ ਉਦਤਸ ਲਈ,   ਸਮਭਤਜਤ ਵਤਕਕਣਟ

(equilateral triangles)     ਨਭ ਲਸਣਭ ਵਬਹਤਰ ਹਸ          । ਤਤਸਤੜ ਉਹਨਟ ਨ ਇਸ ਤਰਟ ਜਵਭਬ ਦਤ ਸਕਦਤ ਹਕ,  "     ਵਤਕਕਣ ਦਭ ਇਵਕ ਪਭਸਭ 6
 ਸਸੜਟਤਮਤਟਰ ਹਸ,  ਸਭਰਤ ਨਹਤੜ"    । ਇਸ ਦਤ ਬਭਵਜਰਦ,        ਇਕ ਵਵਵਦਆਰਥਤ ਇਕ ਸਮਭਤਜਤ ਵਤਕਕਣ ਬਣਭ ਸਕਦਭ ਹਸ,    ਅਤਤ ਅਸਤੜ ਬਭਅਦ ਵਵਚ

        ਵਵਚਭਰ ਕਰਟਗਤ ਵਕ ਅਵਜਹਤ ਸਵਥਤਤ ਨ ਵਕਵਤੜ ਸਮਭਭਵਲਆ ਜਭਵਤ।

Now study the triangle drawn by your partner.

        ਹਤਣ ਆਪਣਤ ਦਕਸਤ ਦਤਆਰਭ ਬਣਭਏ ਵਤਕਕਣ ਦਤ ਜਟਚ ਕਰਕ

Q1. Is your triangle the same as your partner’s?
ਪਰਸਨ 1.       ਕਤ ਤਤਹਭਡਤ ਦਕਵਟ ਦਤਆ ਵਤਕਕਣਟ ਸਮਭਨ ਹਨ?
______________________________________________________________________________________________________

Q2. How did you compare these two triangles?

ਪਰਸਨ 2.       ਤਤਸਤ ਦਕਵਤੜ ਵਤਕਕਣਟ ਦਤ ਤਤਲਨਟ ਵਕਵਤੜ ਕਤਤਤ?

______________________________________________________________________________________________________
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______________________________________________________________________________________________________

Q3. You and your partner, both were told that one side of the triangle is 6 cm. Did you both get
exactly the same triangles? Why?

ਪਰਸਨ 3.        ਤਤਹਭਨ ਦਕਵਟ ਨ ਵਤਕਕਣ ਬਣਭਉਣ ਲਈ ਵਕਹਭ ਸਤ,      ਵਜਸਦਤ ਇਵਕ ਭਤਜਭ ਦਤ ਲਮਬਭਈ 6  ਸਸੜਟਤਮਤਟਰ ਹਸ     । ਕਤ ਦਕਵਟ ਦਤਆ ਵਤਕਕਣਟ

 ਸਮਭਨ ਹਨ?  ਅਵਜਹਭ ਵਕਉੜ?
______________________________________________________________________________________________________

Make sure that you collect some oral responses here. The students can give various criteria that
they used to compare the triangles; like lengths of sides or measure of the angles. When you
move around, check if there are pairs of students whose triangles are obviously different. Ask
these students whether for such cases they need to measure the sides or angles or they can
decide using some other ways. 

          ਕਕਵਸਸ ਕਰਕ ਵਕ ਇਹਨਟ ਪਰਸਨਟ ਦਤ ਤਤਸਤੜ ਕਤਝ ਜਤਬਭਨਤ ਜਵਭਬ ਲਵਕ       । ਵਵਵਦਆਰਥਤ ਵਤਕਕਣਟ ਦਤ ਤਤਲਨਭ ਲਈ ਵਵਖ-   ਵਵਖ ਮਭਪਦਮਡ ਵਰਤ

 ਸਕਦਤ ਹਨ,           ਵਜਵਤੜ ਵਕ ਭਤਜਭਵਟ ਦਤ ਲਮਬਭਈ ਜਟ ਕਕਣਟ ਦਭ ਮਭਪ ਕਰਨਭ           । ਕਲਭਸ ਚ ਘਤਮਮਦਤ ਸਮਤੜ ਵਧਆਨ ਵਦਓ ਵਕ ਅਵਜਹਤ ਜਕੜਤ ਹਨ

                    ਵਜਹਨਟ ਦਤ ਵਤਕਕਣ ਸਪਸਟ ਰਰਪ ਵਵਵਚ ਅਲਵਗ ਹਨ। ਇਹਨਟ ਵਵਵਦਆਰਥਤਆ ਨ ਪਤਵਛਕ ਵਕ ਉਹਨਟ ਨ ਭਤਜਭਵਟ ਦਤ ਲਮਬਭਈ ਜਟ ਕਕਣ ਦਤ

             ਮਭਪ ਦਤ ਜਰਰਰਤ ਪਈ ਜਟ ਉਹ ਵਕਸਤ ਹਕਰ ਢਮਗ ਨਭਲ ਵਤ ਦਵਸ ਸਕਦਤ ਹਨ।

In some cases, the two triangles being compared may look obviously different. In some other
cases,  one  may  need  to  check  by  measuring  the  sides  and/or  the  angles.  Another  way  to
compare is to superimpose the two triangles, by cutting them out, or by holding the sheets of
paper  against  a  bright  light.  Teachers  may use the opportunity  to point  out  that  when the
triangles  are  the  same (i.e.,  have  corresponding  sides  and  angles  of  the  same measure  or
overlap exactly), then we say that the triangles are congruent.  

          ਕਤਝ ਮਭਮਵਲਆ ਵਵਵਚ ਵਤਕਕਣ ਸਪਸਟ ਰਰਪ ਵਵਵਚ ਵਵਖਰਤ ਲਵਗ ਸਕਦਤ ਹਨ           । ਜਦਵਕ ਕਤਝ ਮਭਮਵਲਆ ਵਵਵਚ ਭਤਜਭਵਟ ਦਤ ਲਮਬਭਈ ਜਟ ਕਕਣ ਦਤ

                          ਮਭਪ ਕਰਨ ਦਤ ਲਕੜ ਪਸ ਸਕਦਤ ਹਸ। ਤਤਲਨਭ ਕਰਨ ਦਭ ਇਕ ਹਕਰ ਤਰਤਕਭ ਹਸ ਵਕ ਤਤਸਤੜ ਉਹਨਟ ਨ ਕਵਟ ਕਤ ਇਵਕ ਦਰਜਤ ਤਤ ਰਵਖ ਕਤ ਜਟ ਦਕਵਤੜ

                      ਕਭਗਜਟ ਨ ਰਮਸਨਤ ਦਤ ਤਤਜ ਸਰਕਤ ਅਵਗਤ ਰਵਖ ਕਤ ਵਤ ਦਤਖ ਸਕਦਤ ਹਕ। ਅਵਧਆਪਕ ਇਸ ਮਮਕਤ ਤਤ ਵਵਵਦਆਰਥਤਆ ਨ ਦਵਸ ਸਕਦਤ ਹਨ ਵਕ

    ਜਦਕੜ ਵਤਕਕਣ ਸਮਭਨ ਹਕਣ (ਮਤਲਬ,         ਜਦਕੜ ਨਭਲ ਲਵਗਦਤਆ ਭਤਜਭਵਟ ਅਤਤ ਕਕਣ ਬਰਭਬਰ ਹਕਣ),      ਉਹਨਟ ਵਤਕਕਣਟ ਨ ਅਸਤੜ ਸਮਰਰਪ

(Congruent)  ਕਵਹਮਦਤ ਹਟ।

Task 2b: Constructing a triangle when only one angle is given

 ਕਜਰਜ 2 ਅ:        ਸਤਕਟਣ ਬਣਜਉਣਜ ਜਦਟਟ ਕਦਵਲ ਇਘਕ ਕਟਣ ਸਦਘਤਜ ਹਟਵਦ
Draw a triangle on the given paper where one of the angles measures 55o. Name your triangle.

         ਵਦਵਤਤ ਕਭਗਜ ਤਤ ਇਵਕ ਵਤਕਕਣ ਬਣਭਉ ਵਜਸਦਭ ਇਵਕ ਕਕਣ 55° ਹਕਵਤ     । ਵਤਕਕਣ ਨ ਨਭਮ ਵਦਓ।

Students might want to know the measures of the other angles. Reiterate that only one angle
has been specified. Use this opportunity to revise the properties of triangles, and how, given two
angles, one can always find the third angle.  

         ਵਵਵਦਆਰਥਤ ਸਭਇਦ ਦਰਜਤ ਕਕਣਟ ਦਭ ਮਭਪ ਵਤ ਜਭਨਣਭ ਚਭਹਤਮਦਤ ਹਕਣ            । ਦਤਹਰਭਓ ਵਕ ਵਸਰਫ ਇਵਕ ਕਕਣ ਹਤ ਵਦਵਤਭ ਹਕਇਆ ਹਸ। ਇਸ ਮਮਕਤ

                    ਦਭ ਫਭਇਦਭ ਉਠਭਓ ਅਤਤ ਵਵਵਦਆਰਥਤਆ ਨ ਵਤਕਕਣ ਦਤਆ ਵਵਸਤਸਤਭਵਟ ਦਸਕ ਵਜਵਤੜ ਵਕ ਤਤਹਭਨ ਜਤ ਵਤਕਕਣ ਦਤ ਦਕ ਕਕਣ ਵਦਵਤਤ ਹਕਣ ਤਟ

          ਤਤਸਤ ਤਤਸਰਤ ਕਕਣ ਦਭ ਵਕਵਤੜ ਪਤਭ ਲਗਭ ਸਕਦਤ ਹਕ।

Now study the triangle drawn by your partner.

        ਹਤਣ ਆਪਣਤ ਦਕਸਤ ਦਤਆਰਭ ਬਣਭਏ ਵਤਕਕਣ ਦਤ ਜਟਚ ਕਰਕ।

Q1. Is your triangle the same as your partner’s?
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ਪਰਸਨ 1.       ਕਤ ਤਤਹਭਡਤ ਦਕਵਟ ਦਤਆ ਵਤਕਕਣਟ ਸਮਭਨ ਹਨ? 
______________________________________________________________________________________________________

Q2. How did you compare these two triangles?

ਪਰਸਨ 2.       ਤਤਸਤ ਦਕਨਟ ਵਤਕਕਣਟ ਦਤ ਤਤਲਨਟ ਵਕਵਤੜ ਕਤਤਤ?
______________________________________________________________________________________________________

______________________________________________________________________________________________________

Q3. You and your partner, both were given one angle of 55o. Did you both get exactly the same
triangles? Why?

ਪਰਸਨ 3.        ਤਤਹਭਨ ਦਕਵਟ ਨ ਵਤਕਕਣ ਬਣਭਉਣ ਲਈ ਵਕਹਭ ਸਤ,    ਵਜਸਦਭ ਇਵਕ ਕਕਣ 55° ਹਕਵਤ       । ਕਤ ਦਕਵਟ ਦਤਆ ਵਤਕਕਣਟ ਸਮਭਨ ਹਨ? ਅਵਜਹਭ
ਵਕਉੜ?
______________________________________________________________________________________________________

Task 3: Constructing a triangle when two measures are given
 ਕਜਰਜ 3:       ਸਤਕਟਣ ਬਣਜਉਣਜ ਜਦਟਟ ਦਟ ਮਜਪ ਸਦਘਤਦ ਹਟਣ

Give Group A the measure of two sides, Group B the measure of one side and one angle, and
Group C the measure of two angles.

       ਮਮਡਲਤ ਕ ਨ ਦਕ ਭਤਜਭਵਟ ਦਭ ਮਭਪ ਵਦਓ,                    ਮਮਡਲਤ ਖ ਨ ਇਵਕ ਭਤਜ ਅਤਤ ਇਕ ਕਕਣ ਦਭ ਮਭਪ ਦਵਕ ਅਤਤ ਮਮਡਲਤ ਗ ਨ ਦਕ ਕਕਣਟ ਦਭ ਮਭਪ ਦਵਕ।

Make three groups among yourselves. If possible, form your group with your classmates who are
sitting close to you. Let us call these groups A, B and C. 

    ਆਪਸ ਵਵਵਚ ਵਤਮਨ ਮਮਡਲਤਆ ਬਣਭਉ             । ਹਕ ਸਕਤ ਤਟ ਨਤੜਤ ਬਸਠਤ ਵਵਵਦਆਰਥਤਆ ਦਤਆ ਮਮਡਲਤਆ ਬਣਭਉ। ਇਹਨਟ ਨ ਕ, ਖ,   ਗ ਨਭਮ ਦਤ

ਵਦਓ।

Group A: Draw a triangle whose sides are 7 cm and 5 cm. Label the vertices of your triangle.
Group B: Draw a triangle whose one side is 6 cm and one angle is 550.  Label the vertices of your
triangle
Group C: Draw a triangle whose two angles are 500 and 750.  Label the vertices of your triangle

 ਮਮਡਲਤ ਕ:     ਵਤਕਕਣ ਬਣਭਉ ਵਜਸਦਤਆ ਭਤਜਭਵਟ 7 ਸਸੜ.ਮਤ.  ਅਤਤ 5 ਸਸੜ.ਮਤ. ਹਕਣ     । ਵਤਕਕਣ ਦਤ ਕਕਣਵਬਮਦਤਆ (Vertices)   ਨ ਲਤਬਲ ਕਰਕ।

 ਮਮਡਲਤ ਖ:      ਵਤਕਕਣ ਬਣਭਉ ਵਜਸਦਤ ਇਵਕ ਭਤਜਭ 6 ਸਸੜ.ਮਤ.   ਅਤਤ ਕਕਣ 55° ਹਕਵਤ       । ਵਤਕਕਣ ਦਤ ਕਕਣਵਬਮਦਤਆ ਨ ਲਤਬਲ ਕਰਕ।

 ਮਮਡਲਤ ਗ:      ਵਤਕਕਣ ਬਣਭਉ ਵਜਸਦਤ ਦਕ ਕਕਣ 50°  ਅਤਤ 75° ਹਕਣ       । ਵਤਕਕਣ ਦਤ ਕਕਣਵਬਮਦਤਆ ਨ ਲਤਬਲ ਕਰਕ।

Now study the triangle drawn by your partner.

        ਹਤਣ ਆਪਣਤ ਦਕਸਤ ਦਤਆਰਭ ਬਣਭਏ ਵਤਕਕਣ ਦਤ ਜਟਚ ਕਰਕ।

Q1. Is your triangle the same as your partner’s?

ਪਰਸਨ 1.       ਕਤ ਤਤਹਭਡਤ ਦਕਵਟ ਦਤਆ ਵਤਕਕਣਟ ਸਮਭਨ ਹਨ?
______________________________________________________________________________________________________

Q2. How did you compare these two triangles?

ਪਰਸਨ 2.       ਤਤਸਤ ਦਕਨਕੜ ਵਤਕਕਣਟ ਦਤ ਤਤਲਨਟ ਵਕਵਤੜ ਕਤਤਤ?
______________________________________________________________________________________________________

______________________________________________________________________________________________________

Groups A, B and C:
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 ਮਮਡਲਤ ਕ,   ਖ ਅਤਤ ਗ

Q3. Did each of you get exactly the same triangles as the members in your group ? Why

ਪਰਸਨ 3.     ਕਤ ਤਤਹਭਡਤ ਮਮਡਲਤ ਦਤ ਮਸੜਬਰਟ    ਦਤ ਵਤਕਕਣ ਸਮਭਨ ਹਨ? ਵਕਉੜ?
______________________________________________________________________________________________________

______________________________________________________________________________________________________

Students most probably will verify whether the two triangles are the same or not by measuring
the  sides  and angles  of  their  triangles,  as  mentioned earlier.  The  teacher  can also  suggest
superimposing (cutting the two triangles and placing on each other to see whether they overlap
each other exactly), to see whether the triangles obtained are congruent to each other.  

     ਵਜਵਤੜ ਵਕ ਪਵਹਲਟ ਦਵਵਸਆ ਵਗਆ ਹਸ,                 ਆਮ ਤਮਰ ਤਤ ਵਵਵਦਆਰਥਤ ਭਤਜਭਵਟ ਦਤ ਲਮਬਭਈ ਜਟ ਕਕਣ ਦਤ ਮਭਪ ਕਰਕਤ ਪਤਭ ਲਗਭ ਸਕਦਤ ਹਨ ਵਕ

    ਵਤਕਕਣ ਸਮਭਨ ਹਨ ਵਕ ਨਹਤੜ                     । ਅਵਧਆਪਕ ਉਹਨਟ ਨ ਕਵਟ ਕਤ ਇਵਕ ਦਰਜਤ ਤਤ ਰਵਖ ਕਤ ਜਟ ਦਕਵਤੜ ਕਭਗਜਟ ਨ ਰਮਸਨਤ ਦਤ ਤਤਜ ਸਰਕਤ ਅਵਗਤ ਰਵਖ

    ਕਤ ਵਤਕਕਣਟ ਦਤ ਸਮਰਰਪਤਭ (Congruence)     ਦਭ ਪਤਭ ਲਗਭ ਸਕਦਤ ਹਨ।

Task 4: Constructing a triangle when three measures are given

 ਕਜਰਜ 4:       ਸਤਕਟਣ ਬਣਜਉਣਜ ਜਦਟਟ ਸਤਸਨ ਮਜਪ ਸਦਘਤਦ ਹਟਣ

The class is already divided into 3 groups. Now divide each group into 2 sub-groups. A1 & A2, B1
& B2 and C1 & C2.  Make sure that any two students sitting beside each other are part of the
same group.

        ਅਸਤ ਕਲਭਸ ਨ ਵਤਮਨ ਮਮਡਲਤਆ ਵਵਵਚ ਵਮਵਡਆ ਹਕਇਆ ਹਸ       । ਹਤਣ ਹਰਤਕ ਮਮਡਲਤ ਨ ਦਕ ਸਵਹ-  ਮਮਡਲਤਆ ਕ 1 & ਕ 2, ਖ 1 & ਖ 2 ਅਤਤ
ਗ 1 & ਗ 2          । ਇਹ ਚਮਗਭ ਰਹਤਗਭ ਜਤਕਰ ਨਭਲ ਬਸਠਤ ਵਵਵਦਆਰਥਤ ਇਵਕਕ ਸਵਹ-   ਮਮਡਲਤ ਵਵਵਚ ਹਕਣ।

Group A1: Draw a triangle XYZ such that XY = 4 cm, YZ = 6 cm, and XZ = 7 cm.
Group A2: Draw a triangle ABC such that, AB = 5 cm, BC = 6 cm, and ∠ACB = 450.
Group B1: Draw a triangle IJK such that IJK∠  = 40o, JKI∠  = 65o, and IKJ ∠ = 75o.
Group B2: Draw a triangle STU such that ∠UST = 50o, ST = 3 cm, and ∠STU = 65o.
Group C1: Draw a triangle EFG such that EF = 7 cm, FG = 9 cm, and GEF∠  = 90o.

Group C2: Draw a triangle PQR such that PQ = 5 cm, ∠PQR = 50o, and QR = 4 cm.

 ਮਮਡਲਤ ਕ 1:    ਵਤਕਕਣ ਕਖਗ ਬਣਭਓ ਵਜਸਦਭ,  ਕਖ = 4 ਸਸੜ.ਮਤ.,  ਖਗ = 6 ਸਸੜ.ਮਤ.,   ਅਤਤ ਕਗ = 7 ਸਸੜ.ਮਤ..
 ਮਮਡਲਤ ਕ 2:    ਵਤਕਕਣ ਚਛਜ ਬਣਭਓ ਵਜਸਦਭ,  ਚਛ = 5 ਸਸੜ.ਮਤ.,  ਛਜ = 6 ਸਸੜ.ਮਤ.,  ਅਤਤ ∠  ਚਜਛ = 450.
 ਮਮਡਲਤ ਖ 1:    ਵਤਕਕਣ ਤਥਦ ਬਣਭਓ ਵਜਸਦਭ,∠ਤਥਦ= 40o, ∠  ਥਦਤ = 65o,  ਅਤਤ ∠  ਦਤਥ = 75o.
 ਮਮਡਲਤ ਖ 2:    ਵਤਕਕਣ ਸਟਯ ਬਣਭਓ ਵਜਸਦਭ, ∠  ਯਸਟ = 50o,  ਸਟ = 3 ਸਸੜ.ਮਤ.,  ਅਤਤ ∠  ਸਟਯ = 65o.
 ਮਮਡਲਤ ਗ 1:    ਵਤਕਕਣ ਪਫਬ ਬਣਭਓ ਵਜਸਦਭ,  ਪਫ = 7 ਸਸੜ.ਮਤ., ਫਬ = 9 ਸਸੜ.ਮਤ.,  ਅਤਤ ∠  ਬਪਫ = 90o.

 ਮਮਡਲਤ ਗ 2:    ਵਤਕਕਣ ਰੜਹ ਬਣਭਓ ਵਜਸਦਭ,  ਰੜ = 5 ਸਸੜ.ਮਤ., ∠  ਰੜਹ = 50o,   ਅਤਤ ੜਹ = 4 ਸਸੜ.ਮਤ..

Ask  the groups to construct triangles as given in the instructions. Before they start, ask them to
predict  in  which  sub-groups would   the triangles drawn be identical to one another  ,  and in
which  sub-groups  would  the triangles  be different from one another. Remember,  students in
group A2 should get different triangles (because this corresponds to the SSA condition, which is
not  a  condition  for  congruence)  and  so  should  students  in  group  B1  (which  has  the  AAA
condition).  You  might  have  to  have  a  common discussion  if  everybody's  triangles  in  these
groups  are the same  to encourage the students  to discover that  the triangles  need not  be
congruent  even  if  they  fulfil  the  conditions.  The  A2  group’s  condition  (SSA)  is  especially
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interesting because there are only two  possible triangles that fulfil this condition (see figure T2.)
The students in groups A2 and B1  will discover that the conditions given to them were non-
congruence conditions. Following this, you may point out the similarity between the conditions
in A2 and C1 (both are SSA).  Ask the students  if  the condition given in C1 is  a  congruence
condition. Ask them to explain why.

         ਵਵਵਦਆਰਥਤਆ ਨ ਵਦਤਤਆ ਹਦਭਇਤਟ ਦਤ ਅਨਤਸਭਰ ਵਤਕਕਣ ਬਣਭਉਣ ਲਈ ਕਹਕ     । ਸਤਰਰ ਕਰਨ ਤਕੜ ਪਵਹਲਟ,     ਉਹਨਟ ਨ ਕਹਕ ਅਨਤਮਭਨ

     ਲਭਉਣ ਵਕ ਵਕਸ ਮਮਡਲਤ ਦਤ ਮਸੜਬਰਟ          ਦਤ ਵਤਕਕਣ ਇਕਕ ਵਜਹਤ ਹਕਣਗਤ ਅਤਤ ਵਕਸ ਮਮਡਲਤ ਦਤ ਮਸੜਬਰਟ    ਦਤਆ ਵਤਕਕਣਟ ਅਲਵਗ ਹਕਣਗਤਆ।ਯਭਦ

ਰਵਖਕ,  ਕ 2        ਮਮਡਲਤ ਦਤ ਵਵਵਦਆਰਥਤਆ ਨ ਅਲਵਗ ਵਤਕਕਣਟ ਵਮਲਣਗਤਆ(     ਵਕਉਵਕ ਇਹ ਭਭਕ ਸਰਤਟ ਹਨ,   ਜਕ ਸਮਰਰਪਤਭ
(Congruence)   ਦਤਆ ਸਰਤਟ ਹਨ)   ਇਦਟ ਹਤ ਖ 1      ਮਮਡਲਤ ਦਤ ਵਵਵਦਆਰਥਤਆ ਲਈ ਵਤ (    ਵਜਹਨਟ ਨ ਕਕਕ ਸਰਤਟ  ਵਮਲਤਆ ਹਨ)।

              ਜਗ ਇਨਨਹਾਆ ਮਨਡਲਡੀਆਆ ਨਵਲਚ ਹਰਗਕ ਦਗ ਨਤਕਚਣ ਇਕਚ ਨਜਹਗ ਹਨ ਤਹਾਆ ਤਤੁਹਹਾਨਰਨ ਇਲਕ ਸਹਾਆਝਗ ਨਵਚਹਾਰ-      ਵਟਹਾਆਦਰਗ ਦਡੀ ਜਰਰਰਤ ਪਹ ਸਕਦਡੀ ਹਹ,
         ਨਵਨਦਆਰਥਡੀਆਆ ਨਰਨ ਇਹ ਪਤਹਾ ਕਰਨ ਲਈ ਉਤਸਹਾਨਹਤ ਕਰਚ ਨਕ         ਭਹਾਵਵ ਉਹ ਸਰਤਹਾਆ ਪਰਰਡੀਆਆ ਕਰਨ ਨਤਕਚਣਹਾਆ ਦਹਾ ਸਮਰਰਪ (Congruent)

   ਹਚਣਹਾ ਲਹਾਜਮਡੀ ਨਹਸ ਹਹ। ਕ 2     ਮਮਡਲਤ ਦਤਆ ਸਰਤਟ (ਭਭਕ)          ਖਭਸਕਰ ਵਦਲਚਸਪ ਹਨ ਵਕਉੜਵਕ ਇਹਨਟ ਸਰਤਟ ਨ ਪਰਰਤਆ ਕਰਨ

     ਵਭਲਤਆ ਕਤਵਲ ਦਕ ਹਤ ਵਤਕਕਣਭ ਹਨ(  ਵਚਵਤਰ ਟ 2 ਦਤਖਕ)  । ਕ 2  ਅਤਤ ਖ 1    ਮਮਡਲਤਆ ਦਤ ਵਵਵਦਆਰਥਤ     ਇਹ ਜਭਣਨਗਤ ਵਕ ਉਹਨਟ ਨ

      ਵਦਵਤਤਆ ਸਰਤਟ ਸਮਰਰਪਤਭ ਦਤਆ ਸਰਤਟ ਨਹਤ ਹਨ।  ਇਸਤਕੜ ਬਭਅਦ,   ਤਤਸਤ ਕ 2  ਅਤਤ ਗ 1     ਦਤਆ ਸਰਤਟ ਵਵਵਚ ਸਮਭਨਤਭ ਦਰਸਭ

  ਸਕਦਤ ਹਕ (   ਦਕਵਤੜ ਭਭਕ ਹਨ)       । ਵਵਵਦਆਰਥਤਆ ਨ ਪਤਵਛਕ ਵਕ ਕਤ ਗ 1        ਵਵਵਚ ਵਦਵਤਤ ਗਈ ਸਰਤ ਸਮਰਰਪਤਭ ਦਤ ਸਰਤ ਹਸ    । ਅਗਰ ਹਟ ਤਟ

 ਅਵਜਹਭ ਵਕਉੜ।

Now study the triangle drawn by your partner.

        ਹਤਣ ਆਪਣਤ ਦਕਸਤ ਦਤਆਰਭ ਬਣਭਏ ਵਤਕਕਣ ਦਤ ਜਟਚ ਕਰਕ।

Q1. Is your triangle the same as your partner’s?

ਪਰਸਨ 1.       ਕਤ ਤਤਹਭਡਤ ਦਕਵਟ ਦਤਆ ਵਤਕਕਣਟ ਸਮਭਨ ਹਨ?
______________________________________________________________________________________________________

Q2. How did you compare these two triangles?

ਪਰਸਨ 2.       ਤਤਸਤ ਦਕਵਤੜ ਵਤਕਕਣਟ ਦਤ ਤਤਲਨਟ ਵਕਵਤੜ ਕਤਤਤ?
______________________________________________________________________________________________________

______________________________________________________________________________________________________

Task 5: Minimum conditions for the construction of a unique triangle

 ਕਜਰਜ 5:      ਸਨਵਦਕਲਜ ਸਤਕਟਣ ਬਣਜਉਣ ਲਈ ਸਨਮਨਤਮ ਸ਼ਰਤਵ
Q1. If you want your friend/partner to construct exactly the same triangle like the one you drew in
Task 1, what minimum information will you have to provide, such that she/he will also construct
the exact same triangle?

 ਪਰਸਨ 1.        ਜਤਕਰ ਤਤਸਤ ਚਭਹਤਮਦਤ ਹਕ ਵਕ ਤਤਹਭਡਭ ਦਕਸਤ/            ਸਭਥਤ ਵਬਲਕਤਲ ਉਸਤ ਵਤਕਕਣ ਦਭ ਵਨਰਮਭਣ ਕਰਤ ਵਜਵਤੜ ਦਭ ਤਤਸਤ ਕਭਰਜ 1  ਵਵਚ
 ਬਣਭਇਆ ਸਤ,                ਤਟ ਤਤਹਭਨ ਵਨਮਨਤਮ ਕਤ ਜਭਣਕਭਰਤ ਦਤਣਤ ਪਵਤਗਤ ਵਕ ਉਹ ਵਤ ਉਸ ਵਜਹਤ ਵਤਕਕਣ ਦਭ ਵਨਰਮਭਣ ਕਰਤ?

______________________________________________________________________________________________________

______________________________________________________________________________________________________

Q2. In the previous question, is there a different set of information that could be provided to
construct the exact same triangle? Try and mention all  such different sets of information that
would work.

 ਪਰਸਨ 2.   ਵਪਛਲਤ ਪਰਸਨ ਵਵਵਚ,               ਵਬਲਕਤਲ ਉਸਤ ਵਤਕਕਣ ਨ ਬਣਭਉਣ ਲਈ ਕਤ ਜਭਣਕਭਰਤ ਦਭ ਵਵਖਰਭ ਸਮਰਹ ਵਤ ਹਕ ਸਕਦਭ ਹਸ?  ਜਭਣਕਭਰਤ ਦਤ

 ਅਵਜਹਤ ਵਵਖ-        ਵਵਖ ਸਮਰਹਟ ਦਭ ਵਜਕਰ ਕਰਨ ਦਤ ਕਕਵਸਸ ਕਰਕ।
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______________________________________________________________________________________________________

______________________________________________________________________________________________________

Allow students to make all kinds of possible conjectures. One common conjecture the students
come up with is: give all three angles and all three sides. In response to this, you can remind
them to come up with a minimum set of information. The six things they just mentioned is a lot
of information. Again, giving three sides and two angles is the same as giving three sides and
three angles (triangle's angle sum is 180o). So ensure that the information given is minimum as
well as independent.  

         ਵਵਵਦਆਰਥਤਆ ਨ ਹਰ ਵਕਸਮ ਦਤ ਅਨਤਮਭਨ ਲਗਭਉਣ ਦਤ ਆਵਗਆ ਵਦਓ          । ਇਵਕ ਆਮ ਅਨਤਮਭਨ ਜਕ ਵਵਵਦਆਰਥਤ ਲਸ ਕਤ ਆਉੜਦਤ ਹਨ,
          ਵਕ ਜਤ ਅਸਤੜ ਸਭਰਤ ਕਕਣ ਅਤਤ ਸਭਰਤਆ ਭਤਜਭਵਟ ਦਤ ਮਭਪ ਦਈਏ          । ਉਹਨਟ ਨ ਯਭਦ ਕਰਵਭ ਵਦਓ ਵਕ ਉਹਨਟ ਨ ਸਨਮਨਤਮ ਜਭਣਕਭਰਤ

                    ਦਤਣਤ ਹਸ। ਇਹ ਛਤ ਸਰਤਟ ਬਹਤਤ ਵਜਆਦਭ ਜਭਣਕਭਰਤ ਹਨ। ਇਸ ਤਰਰਹਟ ਦਤਆ ਕਈ ਉਦਭਹਰਣਟ ਹਨ ਵਜਵਤੜ ਕਤਤਤ ਵਤਮਨ ਭਤਜਭਵਟ ਦਭ ਮਭਪ

                ਅਤਤ ਦਕ ਕਕਣਟ ਦਭ ਮਭਪ ਦਤਣਭ ਸਭਰਤ ਕਕਣ ਅਤਤ ਸਭਰਤਆ ਭਤਜਭਵਟ ਦਤ ਮਭਪ ਦਤ ਬਰਭਬਰ ਹਸ (      ਵਕਉਵਕ ਵਤਮਨ ਕਕਣਭ ਦਭ ਜਕੜ 180o ਹਸ)  । ਇਸ
      ਲਈ ਸਤਵਨਸਵਚਤ ਕਰਕ ਵਕ ਵਦਵਤਤ ਜਭਣਕਭਰਤ ਘਵਟਕੜ-    ਘਵਟ ਅਤਤ ਸਤਤਮਤਰ ਹਸ।

Give them  sufficient time. Insist  that they write down their conjectures, in any language they
prefer, using diagrams, using text,  or any other way that helps them to convey  their thinking.
After 10 to 12 minutes, collect their conjectures for further discussion.

    ਉਹਨਟ ਨ ਕਭਫਤ ਸਮਟ ਵਦਓ                 । ਵਧਆਨ ਵਦਓ ਵਕ ਉਹ ਆਪਣਤ ਅਨਤਮਭਨਟ ਨ ਵਕਸਤ ਵਤ ਭਭਸਭ ਵਵਵਚ ਵਲਖ ਸਕਦਤ ਹਨ ਅਤਤ ਸਮਝਭਉਣ

         ਲਈ ਵਚਵਤਰਕਭਰਤ ਜਟ ਹਕਰ ਢਮਗ ਵਤ ਵਰਤ ਸਕਦਤ ਹਨ। 10-12          ਵਮਮਟਟ ਬਭਅਦ ਉਹਨਟ ਦਤ ਅਨਤਮਭਨ ਵਵਚਭਰ ਵਟਟਦਰਤ ਲਈ ਇਕਵਠਤ ਕਰ

ਲਓ।

Go through the students’ conjectures, and look for possible patterns. Based on our experience,
students came up with the following sets of information as leading to a unique triangle. Each
may be thought of as a conjecture:

          ਵਵਵਦਆਰਥਤਆ ਦਤ ਅਨਤਮਭਨਟ ਨ ਪੜਕ ਅਤਤ ਸਮਭਭਵਤ ਸਮਕਤਤਟ ਵਵਲ ਵਧਆਨ ਵਦਓ    । ਸਭਡਤ ਤਜਰਬਤ ਅਨਤਸਭਰ,   ਵਨਵਤਕਲਭ ਵਤਕਕਣ ਬਣਭਉਣ

        ਲਈ ਵਵਵਦਆਰਥਤ ਇਹਨਟ ਜਭਣਕਭਰਤ ਦਤ ਸਮਰਹ ਲਸ ਕਤ ਆਉਣਗਤ।

 Two sides and two angles
 All three sides (SSS)
 One side and two angles (ASA, AAS)
 Two sides and one angle (SSA, SAS)

 All three angles (AAA)
     ਦਕ ਭਤਜਭਵਟ ਅਤਤ ਦਕ ਕਕਣ

   ਵਤਮਨ ਭਤਜਭਵਟ (ਭਭਭ SSS)
     ਇਵਕ ਭਤਜਭ ਅਤਤ ਦਕ ਕਕਣ(ਕਭਕ/ASA, ਕਕਭ/AAS)
     ਦਕ ਭਤਜਭਵਟ ਅਤਤ ਇਵਕ ਕਕਣ(ਭਭਕ/SSA, ਭਕਭ/SAS)
   ਵਤਮਨ ਕਕਣ (ਕਕਕ AAA)

Conduct a discussion about which of these will not work. Students will soon figure out that the
number of minimum conditions required is three; discuss to find out which three. For some
conjectures such as SSA, you might have to be ready with examples. See one such example in
figure T2.  Similarly, you can have counter-examples for AAA. 

          ਇਹ ਵਵਚਭਰ ਵਟਟਦਰਭ ਕਰਕ ਵਕ ਇਹਨਟ ਵਵਵਚਕੜ ਵਕਹੜਭ ਕਮਮ ਨਹਤੜ ਕਰਤਗਭ         । ਵਵਵਦਆਰਥਤ ਜਲਦ ਹਤ ਪਤਭ ਲਗਭ ਲਸਣਗਤ ਵਕ ਘਵਟਕੜ-ਘਵਟ
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Figure T2 :Showing that SSA specification 
does not lead to a unique triangle

 ਸਚਘਤਰ ਟ੨.  ਭਭਕ(SSA)    ਸਰਤਟ ਵਵਲਵਖਣ ਵਤਕਕਣ
 ਨਹਤ ਵਦਮਦਤਆ
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    ਵਤਮਨ ਸਰਤਟ ਦਤ ਲਕੜ ਹਸ:     ਚਰਚਭ ਕਰਕ ਵਕਹੜਤਆ ਵਤਮਨ ਸਰਤਟ      । ਕਤਝ ਅਨਤਮਭਨ ਵਜਵਤੜ ਵਕ ਭਭਕ/SSA     ਲਈ ਤਤਹਭਨ ਉਦਭਹਰਣਟ ਦਤ ਨਭਲ

   ਵਤਆਰ ਰਵਹਣਭ ਚਭਹਤਦਭ ਹਸ   । ਵਚਵਤਰ ਟ 2    ਵਵਵਚ ਅਵਜਹਤ ਉਦਭਹਰਣ ਦਤਖਕ   । ਇਸਤ ਤਰਰਹਟ,   ਤਤਸਤ ਕਕਕ/AAA   ਲਈ ਵਤ ਉਦਭਹਰਣਟ

   ਵਤਆਰ ਰਵਖ ਸਕਦਤ ਹਕ।

Students will feel more convinced about SSS, and you can use this opportunity to ask them why
they are so confident about it. Conclude this activity by talking about congruency tests that work,
and elicit from students the reasons why those work.

                     ਵਵਵਦਆਰਥਤ ਭਭਭ ਤਤ ਵਜਆਦਭ ਭਰਕਸਭ ਵਦਖਭ ਸਕਦਤ ਹਨ ਅਤਤ ਤਤਸਤ ਇਸ ਮਮਕਤ ਉਹਨਟ ਤਕੜ ਪਤਵਛ ਸਕਦਤ ਹਕ ਵਕ ਉਹ ਇਨਟ ਭਰਕਸਤਮਮਦ ਵਕਉ

ਹਨ             । ਇਸ ਗਤਤਵਵਧਤ ਨ ਵਨਵਤਕਲਤ ਵਤਕਕਣ ਬਣਭਉਣ ਲਈ ਜਰਰਰਤ ਵਨਮਨਤਮ ਸਰਤਟ ਦਵਸ ਕਤ,       ਅਤਤ ਇਹ ਵਕਵਤੜ ਕਮਮ ਕਰਦਤਆ ਹਨ ਦਵਸ

    ਕਤ ਖਤਮ ਕਰ ਸਕਦਤ ਹਕ।

Task 6: Constructing a quadrilateral

 ਕਜਰਜ 6:   ਇਘਕ ਚਤਹਰਭਹਜ (Quadrilateral) ਬਣਜਉਣਜ
Q1a. Now that you all know how to make a congruent triangle, let us figure out how to
make a congruent quadrilateral. So if the minimum conditions for making a congruent
triangle are three, what should be enough for a quadrilateral?
ਪਰਸਨ 1ਓ.         ਹਤਣ ਜਦਕੜ ਅਸਤ ਸਮਰਰਪ ਵਤਕਕਣ ਬਣਭਉਣਭ ਵਸਵਖ ਗਏ ਹਟ,       ਚਲਕ ਹਤਣ ਸਮਰਰਪ ਚਤਤਰਭਤਜ ਬਣਭਉਣਭ ਵਸਵਖਦਤ ਹਟ   । ਜਤਕਰ ਸਮਰਰਪ

      ਵਤਕਕਣ ਬਣਭਉਣ ਲਈ ਵਤਮਨ ਸਰਤਟ ਜਰਰਰਤ ਹਨ,        ਸਮਰਰਪ ਚਤਤਰਭਤਜ ਲਈ ਵਨਮਨਤਮ ਸਰਤਟ ਵਕਮਨਤਆ ਹਕਣਗਤਆ?
______________________________________________________________________________________________________

If the students’ answer to Q1a is “four”, ask them why they think it is four, and which four. Ask
them if they would get a unique quadrilateral, given information, for example, about all the four
sides. Then give them Q1b. At first, many students may draw squares, but when prompted to
get different quadrilaterals, they will get multiple rhombuses.

    ਜਤਕਰ ਵਵਵਦਆਰਥਤ ਦਭ ਉਤਰ "ਚਭਰ" ਹਸ,           ਤਟ ਉਸਨ ਪਤਵਛਕ ਚਭਰ ਹਤ ਵਕਉੜ ਅਤਤ ਵਕਹੜਤਆ ਚਭਰ ਸਰਤਟ      । ਉਹਨਟ ਨ ਪਤਵਛਕ ਵਕ ਵਜਵਤੜ

        ਉਦਭਹਰਣ ਵਜਕੜ ਜਤ ਚਭਰਕ ਭਤਜਭਵਟ ਦਭ ਮਭਪ ਵਦਵਤਭ ਹਕਵਤ,       ਕਤ ਉਹਨਟ ਨ ਵਵਲਵਖਣ ਚਤਤਰਭਤਜ ਵਮਲਤਗਤ?    ਸਤਰਰ ਵਵਵਚ ਵਵਵਦਆਰਥਤ ਅਲਵਗ

  ਅਲਵਗ ਵਰਗ (Square)   ਬਣਭ ਸਕਦਤ ਹਨ,      ਪਰ ਜਤ ਤਤਸਤ ਉਹਨਟ ਨ ਵਵਖਕ-           ਵਵਖ ਚਤਤਰਭਤਜ ਬਣਭਉਣ ਤਤ ਜਕਰ ਦਤਵਕਗਤ ਤਟ ਉਹ ਇਵਕ ਤਕੜ ਵਵਧ

 ਸਮਚਤਤਰਭਤਜ (Rhombus)  ਬਣਭ ਲਸਣਗਤ।

Q1b.  Now,  given  that  all  the  sides  of  a  quadrilateral  are  3  cm,  think  about  all  the  different
quadrilaterals that you can draw. Draw the figures on the given blank sheet.  

 ਪਰਸਨ 1ਅ.         ਹਤਣ ਤਤਹਭਨ ਚਤਤਰਭਤਜ ਬਣਭਉਣਤ ਹਸ ਵਜਸਦਤ ਹਰਤਕ ਭਤਜ 3 ਸਸ.ਮਤ. ਹਸ        । ਕਕਵਸਸ ਕਰਕ ਵਜਮਨਤਆ ਵਵਲਵਖਣ ਚਤਤਰਭਤਜ ਬਣਭ ਸਕਦਤ

       ਹਕ ਬਣਭਉ। ਵਚਵਤਰਟ ਨ ਖਭਲਤ ਪਮਨਤ ਤਤ ਬਣਭਉ।

Q2. Did you or your partner get different quadrilaterals for Q1b?
 ਪਰਸਨ 2.          ਕਤ ਤਤਹਭਡਤ ਅਤਤ ਤਤਹਭਡਤ ਸਭਥਤ ਦਤਆਰਭ ਬਣਭਈਆ ਚਤਤਰਭਤਜਭਵਟ ਅਲਵਗ ਹਨ?

______________________________________________________________________________________________________

Q3. So, if only the sides are given, is it always possible to get different quadrilaterals? How do you 
know?

 ਪਰਸਨ 3.       ਜਤਕਰ ਵਸਰਫ ਭਤਜਭਵਟ ਦਭ ਮਭਪ ਵਦਵਤਭ ਹਕਵਤ,        ਕਤ ਇਹ ਸਮਭਵ ਹਸ ਵਕ ਅਲਵਗ ਚਤਤਰਭਤਜ ਵਮਲਣਗਤਆ?      ਤਤਸਤ ਵਕਵਤੜ ਪਤਭ ਕਰ ਸਕਦਤ

ਹਕ?

______________________________________________________________________________________________________

Q4. Imagine that you have to write to your friend about a quadrilateral. Now think of the minimum
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information that you can send him/her, such that he/she gets the exact same quadrilateral as the
one you had in your mind. What information will you send?

 ਪਰਸਨ 4.            ਕਲਪਨਭ ਕਰਕ ਵਕ ਤਤਹਭਨ ਆਪਣਤ ਦਕਸਤ ਨ ਆਪਣਤ ਚਤਤਰਭਤਜ ਬਭਰਤ ਦਵਸਣਭ ਹਸ   । ਹਤਣ ਘਵਟਕੜ-      ਘਵਟ ਜਭਣਕਭਰਤ ਬਭਰਤ ਸਕਚਕ ਜਕ ਤਤਸਤ

  ਉਸ ਨ ਭਤਜਕਗਤ,              ਵਜਸ ਦਤ ਮਦਦ ਨਭਲ ਉਸਨ ਉਹਤ ਚਤਤਰਭਤਜ ਵਮਲਤਗਭ ਵਜਹੜਭ ਤਤਹਭਡਤ ਵਦਮਭਗ ਵਵਵਚ ਸਤ     । ਤਤਸਤੜ ਉਸਨ ਕਤ ਜਭਣਕਭਰਤ

ਦਤਵਕਗਤ?
______________________________________________________________________________________________________

______________________________________________________________________________________________________

Remember, in the case of quadrilaterals, you also have the diagonals. So four sides, four angles,
and two diagonals, a total of ten measures form the maximum information. Give the students
sufficient time to come up with combinations of information. As we ruled out four as minimum
information,  let  us  stick  to  five  minimum  measures.  Collect  the  students'  conjectures  and
conduct a discussion about how it would work or not work. Some examples we received while
working with Class 8 learners are as follows:
 4 sides and 1 diagonal
 2 adjacent sides and 3 angles

 3 sides and 2 included angles

    ਯਭਦ ਰਵਖਕ ਚਤਤਰਭਤਜ ਦਤ ਮਭਮਲਤ   ਵਵਵਚ ਵਵਕਰਣ (Diagonals)  ਵਤ ਹਕਣਗਤ     । ਇਸ ਲਈ ਚਭਰ ਭਤਜਭਵਟ,  ਚਭਰ ਕਕਣ,    ਅਤਤ ਦਕ ਵਵਕਰਣ ਕਤਵਲ

      ਦਸ ਮਭਪ ਵਵਧ ਤਕੜ ਵਵਧ ਜਭਣਕਭਰਤ ਹਨ               । ਵਵਵਦਆਰਥਤਆ ਨ ਜਭਣਕਭਰਤ ਦਤ ਸਤਮਤਲ ਨਭਲ ਆਉਣ ਲਈ ਜਰਰਰਤ ਸਮਟ ਵਦਓ ਵਜਵਤੜ ਵਕ ਅਸਤੜ

   ਚਭਰ ਸਰਤਟ ਨ ਘਵਟਕੜ-       ਘਵਟ ਜਭਣਕਭਰਤ ਵਜਕੜ ਅਸਵਤਕਭਰ ਕਰ ਵਦਵਤਭ ਹਸ,        ਚਲਕ ਹਤਣ ਪਮਜ ਸਰਤਟ ਨਭਲ ਕਮਮ ਕਰਤਏ   । ਵਵਵਦਆਰਥਤਆ ਦਤ

                ਅਮਦਭਜਤ ਇਕਵਤਰ ਕਰਕ ਅਤਤ ਵਵਚਭਰ ਵਟਟਦਰਭ ਕਰਕ ਇਹ ਵਕਵਤੜ ਕਮਮ ਕਰਨਗਤ ਜਟ ਨਹਤੜ ਕਮਮ ਕਰਨਗਤ। ਕਲਭਸ 8  ਦਤ ਵਵਵਦਆਰਥਤਆ

          ਨਭਲ ਕਮਮ ਕਰਨ ਦਮਰਭਨ ਪਰਰਭਪਤ ਹਕਈਆ ਕਤਵਝ ਉਦਭਹਰਣਟ ਹਤਠ ਵਦਵਤਤਆ ਹਨ:
     ਚਭਰ ਭਤਜਭਵਟ ਅਤਤ ਇਵਕ  ਵਵਕਰਣ (Diagonal)
       ਦਕ ਨਭਲ ਲਗਦਤਆ ਭਤਜਭਵਟ ਅਤਤ ਵਤਮਨ ਕਕਣ

     ਵਤਮਨ ਭਤਜਭਵਟ ਅਤਤ ਦਕ ਕਕਣ

Another reasoning about why we need five pieces of information can be something like this: “To
construct a quadrilateral, one needs to fix four points or vertices. By now we know that to fix
three points we need three conditions (triangle).   We now need to fix the fourth point.  The
information we have is in terms of either an angle or a length. An angle gives a straight line and
a length gives us a circle. So it is clear that one condition is not enough to fix the fourth point, so
we will need at least five conditions”.

                  ਸਭਨ ਜਭਣਕਭਰਤ ਦਤ ਪਮਜ ਟਤਕਵੜਆ ਦਤ ਵਕਉੜ ਲਕੜ ਹਸ ਇਸ ਬਭਰਤ ਇਕ ਹਕਰ ਤਰਕ ਇਸ ਤਰਰਹਟ ਹਕ ਸਕਦਭ ਹਸ: “   ਚਤਤਰਭਤਜ ਵਨਰਮਭਣ ਲਈ, 
  ਚਭਰ ਕਕਣਵਬਮਦਤਆ (Vertices)  ਨ ਵਫਕਸ     ਕਰਨ ਦਤ ਜਰਰਰਤ ਹਤਮਦਤ ਹਸ           । ਹਤਣ ਤਵਕ ਅਸਤੜ ਜਭਣਦਤ ਹਟ ਵਕ ਵਤਮਨ ਕਕਣਵਬਮਦਤਆ ਨ ਪਵਕਭ ਕਰਨ
    ਲਈ ਸਭਨ ਵਤਮਨ ਸਰਤਟ (ਵਤਕਕਣ)   ਦਤ ਜਰਰਰਤ ਹਸ       । ਸਭਨ ਹਤਣ ਚਮਥਤ ਨਤਕਤਤ ਨ ਵਫਕਸ          ਕਰਨ ਦਤ ਜਰਰਰਤ ਹਸ। ਸਭਡਤ ਕਕਲ ਜਕ ਜਭਣਕਭਰਤ ਹਸ

                        ਉਹ ਵਕਸਤ ਇਵਕ ਕਕਣ ਜਟ ਲਮਬਭਈ ਦਤ ਰਰਪ ਵਵਵਚ ਹਸ। ਇਵਕ ਕਕਣ ਇਵਕ ਵਸਵਧਤ ਰਤਖਭ ਵਦਮਦਭ ਹਸ ਅਤਤ ਇਵਕ ਲਮਬਭਈ ਸਭਨ ਇਵਕ ਚਵਕਰ ਵਦਮਦਤ ਹਸ।

                ਇਸ ਲਈ ਇਹ ਸਪਵਸਟ ਹਸ ਵਕ ਇਕ ਸਰਤ ਚਮਥਤ ਨਤਕਤਤ ਨ ਠਤਕ ਕਰਨ ਲਈ ਕਭਫਤ ਨਹਤੜ ਹਸ,    ਇਸ ਲਈ ਸਭਨ ਘਵਟਕੜ-     ਘਵਟ ਪਮਜ ਸਰਤਟ ਦਤ

 ਲਕੜ ਪਵਤਗਤ।

Students can actually construct these examples and see whether they get a pair of congruent 
triangles. However, a general strategy to understand is to see how two congruent triangles 
when joined, give rise to a quadrilateral. This understanding can be used to deduce the 
congruency conditions for quadrilaterals. Joining two triangles reduces the information needed 
from six to five conditions, as one side overlaps. 
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   ਵਵਵਗਆਨ ਪਰਤਤਭਭ ਵਸਖਲਭਈ ਇਕਭਈ LU 8.14.     ਕਤ ਸਭਡਤਆ ਬਹਤਭਤਜਭਵਟ ਸਮਰਰਪ ਹਨ?

                   ਵਵਵਦਆਰਥਤ ਅਸਲ ਵਵਵਚ ਇਹਨਟ ਉਦਭਹਰਣਟ ਦਭ ਵਨਰਮਭਣ ਕਰ ਸਕਦਤ ਹਨ ਅਤਤ ਇਹ ਵਤਖ ਸਕਦਤ ਹਨ ਵਕ ਕਤ ਉਹਨਟ ਨ ਸਮਰਰਪ

    ਵਤਕਕਣਟ ਦਤ ਜਕੜਤ ਵਮਲਦਤ ਹਸ  । ਹਭਲਟਵਕ,                ਸਮਝਣ ਦਤ ਇਕ ਆਮ ਰਣਨਤਤਤ ਇਹ ਦਤਖਣਭ ਹਸ ਵਕ ਵਕਵਤੜ ਦਕ ਸਮਰਰਪ ਵਤਕਕਣ ਜਤੜਨ ਤਤ ਇਵਕ

  ਚਤਤਰਭਤਜ ਵਦਮਦਤ ਹਨ         । ਇਸ ਸਮਝ ਦਤ ਵਰਤਕੜ ਚਤਤਰਭਤਜ ਦਤ ਸਮਰਰਪਤਭ (Congruence)       ਲਈ ਜਰਰਰਤ ਸਰਤਟ ਨ ਘਟਭਉਣ ਲਈ ਕਤਤਤ

  ਜਭ ਸਕਦਤ ਹਸ                     । ਦਕ ਵਤਕਕਣਟ ਦਤ ਜਤੜਨ ਤਤ ਸਰਤਟ ਘਵਟ ਕਤ ਛਤ ਤਕੜ ਪਮਜ ਰਵਹ ਜਟਦਤਆ ਹਨ ਵਕਉੜਵਕ ਇਕ ਭਤਜਭ ਸਟਝਤ ਹਤਮਦਤ ਹਸ।

Check  whether  what  you  suggested  as  the  minimum  information  really  works.  Try  drawing
different quadrilaterals for the information you said you would give your friend in the question
above.

       ਜਟਚ ਕਰਕ ਵਕ ਕਤ ਤਤਹਭਡਤ ਦਤਆਰਭ ਵਦਵਤਭ ਘਵਟਕੜ-         ਘਵਟ ਜਭਣਕਭਰਤ ਵਭਲਭ ਸਤਝਭਅ ਅਸਲ ਵਵਵਚ ਕਮਮ ਕਰਦਭ ਹਸ     । ਉਸ ਜਭਣਕਭਰਤ ਨਭਲ ਵਵਖਕ-
                   ਵਵਖਰਤ ਚਤਤਰਭਤਜਟ ਨ ਬਣਭਉਣ ਦਤ ਕਕਵਸਸ ਕਰਕ ਜਕ ਤਤਸਤੜ ਵਕਹਭ ਸਤ ਵਕ ਤਤਸਤੜ ਆਪਣਤ ਦਕਸਤ ਨ ਉਪਰਕਕਤ ਪਰਸਨ ਵਵਵਚ ਦਤਵਕਗਤ।

Q5.  Think  about  why  this  set  of  information  will  lead  to  congruent  or  non-congruent
quadrilaterals.

 ਪਰਸਨ 5.                ਇਸ ਬਭਰਤ ਸਕਚਕ ਵਕ ਜਭਣਕਭਰਤ ਦਭ ਇਹ ਸਮਰਹ ਵਕਉੜ ਸਮਰਰਪ ਚਤਤਰਭਤਜਭਵਟ ਦਤਵਤਗਭ ਜਟ ਵਕਉੜ ਨਹਤ ਦਤਵਤਗਭ?

______________________________________________________________________________________________________

______________________________________________________________________________________________________

Q6. List the conditions that worked for constructing a unique quadrilateral.

ਪਰਸਨ 6.            ਉਨਨਹਾਆ ਸਰਤਹਾਆ ਦਡੀ ਸਰਚਡੀ ਬਣਹਾਓ ਨਜਹਨਹਾਆ ਨਹਾਲ ਨਵਲਲਖਣ ਚਤਤੁਰਭਤੁਜ ਦਹਾ ਨਨਰਮਹਾਣ ਹਚਇਆ।
______________________________________________________________________________________________________

______________________________________________________________________________________________________

Some standard conditions that will give congruent quadrilaterals are given below for your
reference.

 Three adjacent sides and two included angles within those sides
 Three angles and two included sides within those angles

Some standard conditions that will give congruent quadrilaterals are given below for your
reference.

 Three adjacent sides and two included angles within those sides
Three angles and two included sides within those angles

     ਕਤਝ ਆਮ ਸਰਤਟ ਵਜਹੜਤਆ ਸਮਰਰਪ ਚਤਤੁਰਭਤੁਜਹਾ  ਵਟ ਦਤਣਗਤਆ,       ਤਤਹਭਡਤ ਹਵਭਲਤ ਲਈ ਹਤਠ ਵਦਵਤਤਆ ਗਈਆ ਹਨ:
         ਵਤਮਨ ਨਭਲ ਲਵਗਦਤਆ ਭਤਜਭਵਟ ਅਤਤ ਇਹਨਟ ਦਤ ਅਮਦਰਲਤ ਕਕਣ

      ਵਤਮਨ ਕਕਣ ਅਤਤ ਉਹਨਟ ਵਵਵਚਲਤਆ ਭਤਜਭਵਟ

  ਅਸਲ ਵਵਵਚ,      ਵਕਸਤ ਵਤ ਚਤਤਰਭਤਜ ਦਤ ਸਮਰਰਪਤਭ (Congruence)  ਲਈ ਘਵਟਕੜ-     ਘਵਟ ਸਰਤਟ ਹਤਠਟ ਵਦਵਤਤਆ ਹਨ:
ਕਕਕਭਭ, ਕਕਭਕਭ, ਕਭਕਭਕ, ਭਕਭਕਭ

              ਚਭਰ ਭਤਜਭਵਟ ਅਤਤ ਇਕ ਕਕਣ ਸਮਰਰਪਤਭ ਲਈ ਸਰਤਟ ਹਕ ਸਕਦਤ ਹਨ ਜਤ ਚਤਤਰਭਤਜ ਇਕਸਭਰ

ਹਕਣ।

ਭਭਭਭਕ
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 ਸਚਘਤਰ ਟ3
    ਭਭਭਭਕ ਅਨਤਮਭਨ ਨ ਰਵਦ ਕਰਨਭ

 ਚਤਤਰਭਤਜ ABCD' and ABCD'' ਵਵਵਚ,
l(AB) = 5, l(BC) = 6, ABC = 90°,∡
l(AD')=l(AD'') = 4 and l(CD')= l(CD'')=5.

 ਪਰ ABCD'  ABCD''≇

In the quadrilaterals ABCD' and ABCD'',
l(AB) = 5, l(BC) = 6, ABC = 90°,∡
l(AD')=l(AD'') = 4 and l(CD')= l(CD'')=5.
But ABCD'  ABCD''≇

Figure T3 
Refuting a SSSSA conjecture



   ਵਵਵਗਆਨ ਪਰਤਤਭਭ ਵਸਖਲਭਈ ਇਕਭਈ LU 8.14.     ਕਤ ਸਭਡਤਆ ਬਹਤਭਤਜਭਵਟ ਸਮਰਰਪ ਹਨ?

Task 7: Some special triangles and quadrilaterals
 ਕਜਰਜ 7:     ਕਹਝ ਸਵਸ਼ਦਸ਼ ਸਤਕਟਣ ਅਤਦ ਚਤਹਰਭਹਜ

We have found out the minimum information needed to draw congruent triangles and congruent
quadrilaterals,  but  let  us  look  at  some  special  triangles  and  quadrilaterals  and  find  out  the
minimum information we need to construct these.

         ਅਸਤ ਸਮਰਰਪ ਵਤਕਕਣ ਅਤਤ ਸਮਰਰਪ ਚਤਤਰਭਤਜ ਨ ਬਣਭਉਣ ਲਈ ਘਵਟਕੜ-      ਘਵਟ ਜਭਣਕਭਰਤ ਦਭ ਪਤਭ ਲਗਭਇਆ ਹਸ,     ਪਰ ਆਓ ਅਸਤੜ ਕਤਝ

       ਵਵਸਤਸ ਵਤਕਕਣਟ ਅਤਤ ਚਤਤਰਭਤਜਭਵਟ ਨ ਵਤਖਤਏ ਅਤਤ ਘਵਟਕੜ-             ਘਵਟ ਜਭਣਕਭਰਤ ਦਭ ਪਤਭ ਲਗਭ ਸਕਤਏ ਜਕ ਇਹਨਟ ਨ ਬਣਭਉਣ ਲਈ ਲਕੜਤੜਦਤ ਹਸ।

Q1. How many conditions do you need to construct congruent equilateral triangles?

ਪਰਸਨ 1.   ਤਤਹਭਨ ਸਮਰਰਪ (Congruent)   ਸਮਭਤਜਤ ਵਤਕਕਣ (Equilateral triangle)       ਬਣਭਉਣ ਲਈ ਵਕਮਨਤਆ ਸਰਤਟ ਦਤਣ ਦਤ ਜਰਰਰਤ

ਹਸ?
______________________________________________________________________________________________________

The students will find out that only the length of the equilateral triangle is enough to draw a
congruent triangle. In fact, by giving the length of the side of an equilateral triangle, you are
giving all the 6 pieces of information (3 sides and 3 angles). Do emphasise this while discussing
this task.

               ਵਵਵਦਆਰਥਤ ਇਹ ਪਤਭ ਲਗਭਉਣਗਤ ਵਕ ਸਮਭਤਜਤ ਵਤਕਕਣ ਦਤ ਵਸਰਫ ਲਮਬਭਈ ਸਮਰਰਪ ਵਤਕਕਣ ਬਣਭਉਣ ਲਈ ਕਭਫਤ ਹਸ  । ਦਰਅਸਲ,
        ਇਕ ਸਮਭਤਜਤ ਵਤਕਕਣ ਦਤ ਪਭਸਤ ਦਤ ਲਮਬਭਈ ਦਤ ਕਤ,    ਤਤਸਤੜ ਸਭਰਤ 6     ਜਭਣਕਭਰਤ ਦਤ ਰਹਤ ਹਕ (3   ਭਤਜਭਵਟ ਅਤਤ 3 ਕਕਣ)    । ਇਸ ਕਭਰਜ ਬਭਰਤ

    ਵਵਚਭਰ ਵਟਟਦਰਤ ਸਮਤੜ ਇਸ '   ਤਤ ਜਕਰ ਵਦਓ।

Q2. How many pieces of information do you need to construct congruent squares?

ਪਰਸਨ 2.   ਸਮਰਰਪ ਵਰਗ (Square)         ਬਣਭਉਣ ਲਈ ਤਤਹਭਨ ਵਕਮਨਤਆ ਸਰਤਟ ਦਤਣ ਦਤ ਲਕੜ ਹਸ?
______________________________________________________________________________________________________

The students will find out that only the length of the side is enough to draw congruent squares.
In fact, by saying that it is a square and giving the length of the side of a square, you are giving
all the 8 conditions  (4 sides and 4 angles;  all angles are 90o). Do emphasise this while discussing
this task.

                ਵਵਵਦਆਰਥਤ ਇਹ ਪਤਭ ਲਗਭਉਣਗਤ ਵਕ ਵਸਰਫ ਇਕ ਭਤਜਭ ਦਤ ਲਮਬਭਈ ਸਮਰਰਪ ਵਰਗ ਨ ਵਖਵਚਣ ਲਈ ਕਭਫਤ ਹਸ   । ਅਸਲ ਵਵਚ, ਇਹ
               ਕਵਹ ਕਤ ਵਕ ਇਹ ਇਕ ਵਰਗ ਹਸ ਅਤਤ ਇਕ ਵਰਗ ਦਤ ਪਭਸਤ ਦਤ ਲਮਬਭਈ ਦਤ ਕਤ,   ਤਤਸਤੜ ਸਭਰਤ 8     ਮਭਪ ਦਤ ਰਹਤ ਹਕ (4   ਭਤਜਭਵਟ ਅਤਤ 4 ਕਕਣਟ;
  ਸਭਰਤ ਕਕਣ 90o ਹਨ)         । ਇਸ ਕਭਰਜ ਬਭਰਤ ਵਵਚਭਰ ਵਟਟਦਰਤ ਸਮਤੜ ਇਸ '   ਤਤ ਜਕਰ ਵਦਓ।

Q3. How many pieces of information do you need to construct congruent rectangles?

ਪਰਸਨ 3.    ਤਤਹਭਨ ਸਮਰਰਪ ਆਇਤਭਕਭਰ (Rectangle)        ਬਣਭਉਣ ਲਈ ਵਕਮਨਤਆ ਸਰਤਟ ਦਤਣ ਦਤ ਜਰਰਰਤ ਹਸ?
______________________________________________________________________________________________________

The students will find out that in the case of rectangles, you need the lengths of two adjacent
sides.  In fact, by giving the lengths of two adjacent sides of a rectangle, you are giving all the 8
conditions (4 sides—opposite sides are equal; 4 angles—all angles are 90o). Do emphasise this
while discussing this task.

        ਵਵਵਦਆਰਥਤ ਇਹ ਪਤਭ ਲਗਭਉਣਗਤ ਵਕ ਆਇਤਭਕਭਰਟ ਦਤ ਮਭਮਲਤ ਵਵਚ,          ਤਤਹਭਨ ਦਕ ਨਭਲ ਲਵਗਦਤਆ ਭਤਜਭਵਟ ਦਤ ਲਮਬਭਈ ਦਤ ਜਰਰਰਤ

ਹਸ  । ਦਰਅਸਲ,           ਇਕ ਚਤਤਰਭਤਜ ਦਤ ਦਕ ਨਭਲ ਲਵਗਦਤਆ ਭਤਜਭਵਟ ਦਤ ਲਮਬਭਈ ਦਤ ਕਤ,   ਤਤਸਤੜ ਸਭਰਤ 8     ਮਭਪ ਦਤ ਰਹਤ ਹਕ (4  — ਭਤਜਭਵਟ ਵਵਰਕਧਤ

  ਭਤਜਭਵਟ ਬਰਭਬਰ ਹਨ; 4  —   ਕਕਣ ਸਭਰਤ ਕਕਣ 90o ਹਨ)         । ਇਸ ਕਮਮ ਬਭਰਤ ਵਵਚਭਰ ਵਟਟਦਰਤ ਸਮਤੜ ਇਸ '   ਤਤ ਜਕਰ ਵਦਓ।

Q4. How many pieces of information do you need to construct congruent rhombuses?
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   ਵਵਵਗਆਨ ਪਰਤਤਭਭ ਵਸਖਲਭਈ ਇਕਭਈ LU 8.14.     ਕਤ ਸਭਡਤਆ ਬਹਤਭਤਜਭਵਟ ਸਮਰਰਪ ਹਨ?

ਪਰਸਨ 4.    ਤਤੁਹਹਾਨਰਨ ਸਮਰਰਪ ਸਮਚਤਤੁਰਭਤੁਜ (Rhombus)        ਬਣਹਾਉਣ ਲਈ ਨਕਨਨਡੀ ਜਹਾਣਕਹਾਰਡੀ ਦਗਣ ਦਡੀ ਲਚੜ ਹਹ?

______________________________________________________________________________________________________

The students will find out that in the case of rhombus, you need the length of one side and one
angle. In fact, by giving the length of one side and the measure of one angle of a rhombus, you
are giving  all  the  8  conditions  (4  sides—all  sides  are  equal;   4  angles—adjacent  angles  are
complementary and opposite angles are equal). Do emphasise this while discussing this task.

     ਵਵਵਦਆਰਥਤ ਇਹ ਪਤਭ ਲਗਭਉਣਗਤ ਵਕ ਸਮਚਤਤੁਰਭਤੁਜ   ਦਤ ਮਭਮਲਤ ਵਵਚ,           ਤਤਹਭਨ ਇਕ ਭਤਜਭ ਅਤਤ ਇਕ ਕਕਣ ਦਤ ਲਮਬਭਈ ਦਤਣ ਦਤ ਜਰਰਰਤ

ਹਸ  । ਦਰਅਸਲ,   ਸਮਚਤਤੁਰਭਤੁਜ ਦਡੀ              ਇਵਕ ਭਤਜਭ ਦਤ ਲਮਬਭਈ ਅਤਤ ਇਵਕ ਕਕਣ ਦਭ ਮਭਪ ਦਤ ਕਤ ਤਤਸਤੜ ਸਭਰਤਆ 8     ਸਰਤਟ ਦਤ ਰਹਤ ਹਕ (4 ਭਤਜਭਵਟ
—    ਸਭਰਤਆ ਭਤਜਭਵਟ ਬਰਭਬਰ ਹਨ; 4   —          ਕਕਣ ਨਭਲ ਲਵਗਦਤ ਕਕਣ ਪਰਰਕ ਹਨ ਅਤਤ ਵਵਰਕਧਤ ਕਕਣ ਬਰਭਬਰ ਹਨ)    । ਇਸ ਕਭਰਜ ਬਭਰਤ

    ਵਵਚਭਰ ਵਟਟਦਰਤ ਸਮਤੜ ਇਸ '   ਤਤ ਜਕਰ ਵਦਓ।

Q5. How many pieces of information do you need to construct congruent parallelograms?

ਪਰਸਨ 5. ਸਮਰਰਪ   ਸਮਹਾਨਹਾਆਤਰ ਚਤਤੁਰਭਤੁਜ (Parallelogram)         ਬਣਹਾਉਣ ਲਈ ਤਤੁਹਹਾਨਰਨ ਨਕਨਨਡੀ ਜਹਾਣਕਹਾਰਡੀ ਦਗਣ ਦਡੀ ਲਚੜ ਹਹ?
______________________________________________________________________________________________________

______________________________________________________________________________________________________

In the case of parallelograms, you need the lengths of two adjacent sides and the including
angle. In fact, by giving the lengths of two adjacent sides of a parallelogram and the including
angle, you are giving all the 8 conditions (4 sides—opposite sides are equal;  4 angles— opposite
angles are equal and adjacent angles are complimentary). Do underline this while discussing
this task.

 ਸਮਹਾਨਹਾਆਤਰ ਚਤਤੁਰਭਤੁਜਹਾਵਹਾਆ   ਦਤ ਮਭਮਲਤ ਵਵਵਚ,               ਤਤਹਭਨ ਦਕ ਨਭਲ ਲਵਗਦਤਆ ਭਤਜਭਵਟ ਦਤ ਲਮਬਭਈ ਅਤਤ ਵਵਚਲਤ ਕਕਣ ਦਤਣ ਦਤ ਜਰਰਰਤ ਹਸ।

ਦਰਅਸਲ,  ਇਕ  ਸਮਹਾਨਹਾਆਤਰ ਚਤਤੁਰਭਤੁਜ             ਦਤ ਦਕ ਨਭਲ ਲਵਗਦਤਆ ਭਤਜਭਵਟ ਲਮਬਭਈ ਦਤ ਕਤ ਅਤਤ ਵਵਚਲਤ ਕਕਣ ਦਤ ਕਤ,   ਤਤਸਤੜ ਸਭਰਤ 8   ਮਭਪ ਦਤ ਰਹਤ

 ਹਕ (4  —    ਭਤਜਭਵਟ ਵਵਪਰਤਤ ਭਤਜਭਵਟ ਬਰਭਬਰ ਹਨ; 4 ਕਕਣ-          ਵਵਰਕਧਤ ਕਕਣ ਬਰਭਬਰ ਹਨ ਅਤਤ ਨਭਲ ਲਵਗਦਤ ਕਕਣ ਪਰਰਕ ਹਨ)   । ਇਸ ਕਭਰਜ

     ਬਭਰਤ ਵਵਚਭਰ ਵਟਟਦਰਤ ਸਮਤੜ ਇਸ '   ਤਤ ਜਕਰ ਵਦਓ।

Q6. How many pieces of information do you need to construct congruent trapeziums?

ਪਰਸਨ 6.   ਤਤਹਭਨ    ਸਮਰਰਪ ਸਮਲਨਬਹਾਤਮਕ ਚਤਤੁਰਭਤੁਜ (Trapezium)     ਬਣਭਉਣ ਲਈ ਵਕਮਨਤ ਜਭਣਕਭਰਤ  ਦਗਣ ਦਡੀ  ਜਰਰਰਤ ਹਸ?

______________________________________________________________________________________________________

In the case of trapeziums, you need the length of one non-parallel side, length of the base, and
measure the two bases angles. By saying that the quadrilateral is a trapezium, you can construct
the other parallel side from the given information.

 ਸਮਲਨਬਹਾਤਮਕ ਚਤਤੁਰਭਤੁਜ   ਦਤ ਮਭਮਲਤ ਵਵਚ,   ਤਤਹਭਨ ਇਕ ਗਸਰ-    ਸਮਟਤਰ ਭਤਜਭ ਦਤ ਲਮਬਭਈ,        ਅਧਭਰ ਦਤ ਲਮਬਭਈ ਅਤਤ ਦਕ ਅਧਭਰਟ ਦਤ ਕਕਣਟ

   ਦਭ ਮਭਪ ਚਭਹਤਦਭ ਹਸ        । ਇਹ ਕਵਹ ਕਤ ਵਕ ਚਤਤਰਭਤਜ ਇਵਕ   ਸਮਲਨਬਹਾਤਮਕ ਚਤਤੁਰਭਤੁਜ (Trapezium) ਹਸ,     ਤਤਸਤੜ ਵਦਵਤਤ ਗਈ ਜਭਣਕਭਰਤ ਤਕੜ

       ਦਰਸਰਤ ਸਮਟਤਰ ਪਭਸਤ ਦਭ ਵਨਰਮਭਣ ਕਰ ਸਕਦਤ ਹਕ.

If you look at all the tasks together, you will notice that to construct congruent squares one
needs only one piece of information explicitly, for rectangles and rhombus it will be two pieces
of information, for parallelogram it is three, and for trapeziums it is four. If we recall, squares
are special  cases  of  rectangle  or  rhombuses,  rectangles  or  rhombuses  are  special  cases  of
parallelograms, and parallelograms are special cases of trapezium.

       ਜਤ ਤਤਸਤੜ ਸਭਰਤ ਕਭਰਜਟ ਨ ਇਕਵਠਤ ਵਤਖਦਤ ਹਕ,              ਤਤਸਤੜ ਵਤਖਕਗਤ ਵਕ ਸਮਰਰਪ ਵਰਗਟ ਦਭ ਵਨਰਮਭਣ ਕਰਨ ਲਈ ਵਕਸਤ ਨ ਸਪਵਸਟ ਤਮਰ '  ਤਤ ਵਸਰਫ
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    ਇਕ ਸਰਤ ਦਤ ਜਰਰਰਤ ਹਸ,   ਆਇਤਭਕਭਰ (Rectangle)   ਅਤਤ ਸਮ  ਚਤਤੁਰਭਤੁਜ (Rhombus)     ਲਈ ਦਕ ਸਰਤਟ ਚਭਹਤਦਤਆ ਹਨ,
  ਸਮਹਾਨਹਾਆਤਰ ਚਤਤੁਰਭਤੁਜ (Parallelogram)    ਲਈ ਇਹ ਵਤਮਨ ਹਨ,  ਅਤਤ  ਸਮਲਨਬਹਾਤਮਕ ਚਤਤੁਰਭਤੁਜ    ਲਈ ਇਹ ਚਭਰ ਹਨ    । ਜਤ ਅਸਤੜ ਯਭਦ

 ਕਰਦਤ ਹਟ,     ਵਰਗ ਆਇਤਭਕਭਰ ਜਟ ਸਮਚਤਤੁਰਭਤੁਜ    ਦਤ ਵਵਸਤਸ ਕਤਸ ਹਨ,    ਆਇਤਭਕਭਰ ਜਟ ਸਮਚਤਤੁਰਭਤੁਜ  ਸਮਹਾਨਹਾਆਤਰ ਚਤਤੁਰਭਤੁਜਹਾਵਹਾਆ ਦਤ
  ਵਵਸਤਸ ਕਤਸ ਹਨ,  ਅਤਤ  ਸਮਹਾਨਹਾਆਤਰ ਚਤਤੁਰਭਤੁਜ  ਸਮਲਨਬਹਾਤਮਕ ਚਤਤੁਰਭਤੁਜ    ਦਤ ਵਵਸਤਸ ਕਤਸ ਹਨ।

So  as  you  construct  more  and  more  general  quadrilaterals,  you  will  need  more  pieces  of
information to construct unique ones, till you reach five pieces of information.

            ਇਸ ਲਈ ਜਦਕੜ ਤਤਸਤੜ ਵਧਤਰਤ ਅਤਤ ਵਧਤਰਤ ਸਧਭਰਣ ਚਤਤਰਭਤਜਭਵਟ ਦਭ ਵਨਰਮਭਣ ਕਰਦਤ ਹਕ,      ਤਤਹਭਨ ਵਵਲਵਖਣ ਬਣਭਉਣ ਲਈ ਵਧਤਰਤ

   ਜਭਣਕਭਰਤ ਦਤ ਜਰਰਰਤ ਹਕਵਤਗਤ,         ਜਦਕੜ ਤਵਕ ਤਤਸਤੜ ਪਮਜ ਸਰਤਟ ਤਤ ਨਹਤੜ ਪਹਤਮਚ ਜਟਦਤ।

Task 8: Constructing a pentagon

 ਕਜਰਜ 8:  ਪਸਜਭਹਜ (Pentagon)   ਦਜ ਸਨਰਮਜਣ ਕਰਨਜ
Q1. Now that you all know what conditions give constructions of congruent triangles or congruent
quadrilaterals,  let  us  figure  out  how  to  construct  congruent  pentagons.  So,  if  the  minimum
conditions for making congruent triangles are three, and that for congruent quadrilaterals are five,
what  do  you  think  is  the  number  of  minimum  conditions  needed  to  construct  congruent
pentagons?

 ਪਰਸਨ 1.                  ਹਤਣ ਜਦਕੜ ਤਤਸਤੜ ਸਭਰਤ ਜਭਣਦਤ ਹਕ ਵਕ ਵਕਹੜਤਆ ਸਰਤਟ ਸਮਰਰਪ ਵਤਕਕਣਟ ਜਟ ਸਮਰਰਪ ਚਤਤਰਭਤਜਟ ਦਭ ਵਨਰਮਭਣ ਕਰਦਤਆ ਹਨ,
      ਆਓ ਆਪਟ ਇਹ ਸਮਝਤਏ ਵਕ ਸਮਰਰਪ ਪਮਜਭਤਜਭਵਟ  ਵਕਵਤੜ ਬਣਭਈਏ   । ਇਸ ਲਈ,       ਜਤ ਸਮਰਰਪ ਵਤਕਕਣ ਬਣਭਉਣ ਲਈ ਘਵਟਕੜ-  ਘਵਟ ਵਤਮਨ

  ਸਰਤਟ ਚਭਹਤਦਤਆ ਹਨ,        ਅਤਤ ਸਮਰਰਪ ਚਤਤਰਭਤਜ ਲਈ ਪਮਜ ਸਰਤਟ ਚਭਹਤਦਤਆ ਹਨ,      ਤਟ ਤਤਹਭਡਤ ਵਖਆਲ ਵਵਚ ਸਮਰਰਪ ਪਮਜਭਤਜ ਬਣਭਉਣ
 ਲਈ ਘਵਟਕੜ-      ਘਵਟ ਸਰਤਟ ਦਤ ਵਗਣਤਤ ਕਤ ਹਸ?

______________________________________________________________________________________________________

Mostly, the students will answer seven, by looking at the pattern. Though the answer is correct,
probe the students to find some of the seven conditions, such that they give a unique pentagon.
ਵਜਆਦਭਤਰ,      ਵਵਵਦਆਰਥਤਆ ਦਭ ਜਵਭਬ ਸਵਤ ਹਕਵਤਗਭ,  ਪਸਟਰਨ(ਸਸਲਤ)      ਨ ਵਤਖ ਕਤ ਦਵਸ ਦਤਣਗਤ     । ਹਭਲਟਵਕ ਉਤਰ ਸਹਤ ਹਸ,

      ਵਵਵਦਆਰਥਤਆ ਨ ਕਤਵਝ ਸਰਤਟ ਲਵਭਣ ਲਈ ਕਹਕ,      ਜਕ ਵਕ ਉਹਨਟ ਨ ਵਵਲਵਖਣ ਪਮਜਭਤਜ  ਵਦਮਦਤ ਹਨ।

Q2. Imagine that you have to write to your friend about a pentagon. Now think of the minimum
information that you can send him/her, such that he/she gets the exact same pentagon as the one
you had in your mind. What information you will send?

 ਪਰਸਨ 2.         ਕਲਪਨਭ ਕਰਕ ਵਕ ਤਤਹਭਨ ਆਪਣਤ ਦਕਸਤ ਨ ਆਪਣਤ ਪਮਜਭਤਜ   ਬਭਰਤ ਦਵਸਣਭ ਹਸ   । ਹਤਣ ਘਵਟਕੜ-       ਘਵਟ ਜਭਣਕਭਰਤ ਬਭਰਤ ਸਕਚਕ ਜਕ ਤਤਸਤ ਉਸ

 ਨ ਭਤਜਕਗਤ,       ਵਜਸ ਦਤ ਮਦਦ ਨਭਲ ਉਸਨ ਉਹਤ ਪਮਜਭਤਜ      ਵਮਲਤਗਭ ਵਜਹੜਭ ਤਤਹਭਡਤ ਵਦਮਭਗ ਵਵਵਚ ਸਤ      । ਤਤਸਤ ਉਸਨ ਕਤ ਜਭਣਕਭਰਤ ਦਤਵਕਗਤ?

______________________________________________________________________________________________________

______________________________________________________________________________________________________

As in the case of quadrilaterals, for pentagons there will be diagonals. So five sides, five angles,
and  five  diagonals,  a  total  of  fifteen measures  form  the  maximum  information.  Give  the
students sufficient time to come up with combinations of  information.  Collect  the students'
conjectures and conduct a discussion about how it would work or not work.

      ਵਜਵਤੜ ਵਕ ਚਤਤਰਭਤਜ ਦਤ ਮਭਮਲਤ ਵਵਚ ਸਤ,  ਪਮਜਭਤਜਭਵਟ    ਦਤ ਵਤ ਵਵਕਰਣ (Diagonal) ਹਕਣਗਤ     । ਇਸ ਲਈ ਪਮਜ ਭਤਜਭਵਟ,    ਪਮਜ ਕਕਣ ਅਤਤ

 ਪਮਜ ਵਵਕਰਣ,        ਕਤਲ ਪਮਦਰਟ ਮਭਪ ਵਵਧ ਤਕੜ ਵਵਧ ਜਭਣਕਭਰਤ ਹਨ           । ਵਵਵਦਆਰਥਤਆ ਨ ਜਭਣਕਭਰਤ ਦਤ ਸਤਮਤਲ ਨਭਲ ਆਉਣ ਲਈ ਕਭਫਤ ਸਮਟ

                   ਵਦਓ। ਵਵਵਦਆਰਥਤਆ ਦਤ ਅਨਤਮਭਨਟ ਨ ਇਕਵਤਰ ਕਰਕ ਅਤਤ ਇਸ ਬਭਰਤ ਵਵਚਭਰ ਵਟਟਦਰਭ ਕਰਕ ਵਕ ਇਹ ਵਕਵਤੜ ਕਮਮ ਕਰਤਗਤ ਜਟ ਨਹਤੜ

ਕਰਤਗਤ।
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Check  whether  what  you  suggested  as  the  minimum  information  really  works.  Try  drawing
different pentagons for the information you said you would give your friend in the question above.

      ਜਟਚ ਕਰਕ ਵਕ ਕਤ ਤਤਸਤੜ ਜਕ ਘਵਟਕੜ-      ਘਵਟ ਜਭਣਕਭਰਤ ਸਤਝਭਅ ਵਜਕੜ ਵਦਵਤਤ ਹਸ,      ਅਸਲ ਵਵਵਚ ਕਮਮ ਕਰਦਤ ਹਸ     । ਉਸ ਜਭਣਕਭਰਤ ਨਭਲ ਵਵਖਕ-ਵਵਖਰਤ
ਪਮਜਭਤਜ                 ਬਣਭਉਣ ਦਤ ਕਕਵਸਸ ਕਰਕ ਜਕ ਤਤਸਤੜ ਵਕਹਭ ਸਤ ਵਕ ਤਤਸਤੜ ਆਪਣਤ ਦਕਸਤ ਨ ਉਪਰਕਕਤ ਪਰਸਨ ਵਵਵਚ ਦਤਵਕਗਤ।

Q3. Think about why this set of information will lead to congruent or non-congruent pentagons.

 ਪਰਸਨ 3.           ਇਸ ਬਭਰਤ ਸਕਚਕ ਵਕ ਜਭਣਕਭਰਤ ਦਭ ਇਹ ਸਮਰਹ ਵਕਉੜ ਸਮਰਰਪ  ਪਮਜਭਤਜਟ (Pentagons) ਬਣਭਏਗਭ।
______________________________________________________________________________________________________

______________________________________________________________________________________________________

Q4. List the conditions that worked for making a unique pentagon.

 ਪਰਸਨ 4.         ਉਹਨਟ ਸਰਤਟ ਦਤ ਸਰਚਤ ਬਣਭਓ ਵਜਹਨਟ ਨਤ ਵਵਲਵਖਣ ਪਮਜਭਤਜ (Pentagon) ਬਣਭਇਆ।

______________________________________________________________________________________________________

______________________________________________________________________________________________________

Some sets of conditions that give congruent pentagons are given below for your reference.
 All 5 sides and 2 of the diagonals
 All 4 sides and 3 included angles

 4 angles and their included sides

      ਸਰਤਟ ਦਤ ਕਤਝ ਸਮਰਹ ਜਕ ਸਮਰਰਪ ਪਮਜਭਤਜ         ਵਦਮਦਤ ਹਨ ਤਤਹਭਡਤ ਹਵਭਲਤ ਲਈ ਹਤਠ ਵਦਵਤਤ ਗਏ ਹਨ।

  ਸਭਰਤਆ 5   ਭਤਜਭਵਟ ਅਤਤ 2 ਵਵਕਰਣ
  ਸਭਰਤਆ 4   ਭਤਜਭਵਟ ਅਤਤ 3  ਵਵਵਚਲਤ ਕਕਣ

 4    ਕਕਣ ਅਤਤ ਵਵਵਚਲਤਆ 3 ਭਤਜਭਵਟ

Task 9: Finding the number of conditions to construct a congruent polygon

 ਕਜਰਜ 9:    ਇਕ ਸਮਰਰਪ ਬਹਹਭਹਜ (Polygon)     ਬਣਜਉਣ ਲਈ ਸਕਸਨਕਆ ਸ਼ਰਤਵ ਲਘਗਣਗਕਆ
Now  that  you  know  the  minimum  conditions  needed  for  constructing  congruent
triangles,  congruent  quadrilaterals  and  congruent  pentagons,  let  us  explore  how
many  conditions  are  needed  for  constructing  congruent  hexagons,  or  congruent
heptagons.

      ਹਤਣ ਤਤਸਤ ਜਭਣਦਤ ਹਕ ਵਕ ਸਮਰਰਪ ਵਤਕਕਣ,      ਸਮਰਰਪ ਚਤਤਰਭਤਜ ਅਤਤ ਸਮਰਰਪ ਪਮਜਭਤਜ (Pentagon)       ਨ ਬਨਭਉਣ ਲਈ ਵਕਮਨਤਆ ਘਵਟ ਤਕੜ ਘਵਟ

    ਸਰਤਟ ਦਤ ਜਰਰਰਤ ਹਸ,          ਆਓ ਅਸਤ ਇਹ ਪੜਤਭਲ ਕਰਤਏ ਵਕ ਸਮਰਰਪ ਛਤਭਤਵਜ (Hexagon)     ਅਤਤ ਸਮਰਰਪ ਸਵਤਭਤਜ (Heptagon)
      ਬਨਭਉਣ ਲਈ ਵਕਮਨਤਆ ਸਰਤਟ ਦਤ ਜਰਰਰਤ ਹਸ    ।

Make some guesses, and make constructions on the given sheets of paper. Record your guesses in
Table 1 below.

  ਕਤਝ ਅਨਤਮਭਨ ਲਗਭਓ,         ਅਤਤ ਵਦਵਤਤ ਗਏ ਕਭਗਜਟ ਦਤ ਪਮਵਨਆ ਤਤ ਉਸਭਰਤਆ ਕਰਕ       ।ਆਪਣਤ ਅਨਤਮਭਨਟ ਨ ਹਤਠਟ ਸਭਰਣਤ 1   ਵਵਵਚ ਦਰਜ ਕਰਕ।
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Table 1 Conditions required for constructing a congruent polygon
 ਸਜਰਣਕ 1       ਸਮਰਰਪ ਬਹਤਭਤਜ ਦਤ ਵਨਰਮਭਣ ਲਈ ਜਰਰਰਤ ਸਰਤਟ

Number of sides in
the polygon

   ਬਹਤਭਤਜ ਦਤਆ ਭਤਜਭਵਟ ਦਤ

ਵਗਣਤਤ

Name of the polygon
  ਬਹਤਭਤਜ ਦਭ ਨਭਮ

Minimum conditions required for
constructing a congruent polygon

     ਸਮਰਰਪ ਬਹਤਭਤਜ ਬਣਭਉਣ ਲਈ ਜਰਰਰਤ

 ਵਨਮਨਤਮ ਸਰਤਟ

3 Triangle
ਵਤਕਕਣ

3

4 Quadrilateral
ਚਤਤਰਭਤਜ

5

5 Pentagon
ਪਮਜਭਤਜ

_______

6 Hexagon
ਛਤਭਤਵਜ

_______

7 Heptagon
ਸਵਤਭਤਜ

_______

8 Octagon
ਅਵਠਭਤਜ

_______

Some students  may  complete  the  table  by  observing  the
pattern.  Some students  may struggle with the table.  Give
ample time to the students and then collect responses to
complete the table on the board.

           ਕਤਝ ਵਵਵਦਆਰਥਤ ਪਵਤਰ ਨਮਰਵਨਆ ਨ ਵਤਖਵਦਆ ਸਭਰਣਤ ਨ ਪਰਰਭ ਕਰ ਸਕਦਤ ਹਨ।

          ਕਤਝ ਵਵਵਦਆਰਥਤ ਸਭਰਣਤ ਨਭਲ ਸਮਘਰਸ ਵਤ ਕਰ ਸਕਦਤ ਹਨ। ਵਵਵਦਆਥਤਆ ਨ

             ਕਭਫਤ ਸਮਟ ਵਦਓ ਅਤਤ ਵਫਰ ਸਭਰਣਤ ਨ ਪਰਰਭ ਕਰਨ ਲਈ ਜਵਭਬਟ ਨ ਇਕਵਠਭ ਕਰਕ।

Proving our Conjectures

    ਸਜਡਦ ਅਨਹਮਜਨਵ ਨ ਸਜਬਤ ਕਰਨਜ।

Let us find out how can we prove which guesses are right and which ones are wrong.
Draw a quadrilateral. 
Draw a diagonal inside the quadrilateral so that it splits into two triangles.               
See Figure 1.

(Here we have drawn two different types of quadrilaterals).
                  ਆਓ ਜਭਣਤਏ ਵਕ ਅਸਤ ਇਹ ਵਕਵਤੜ ਸਭਬਤ ਕਰ ਸਕਦਤ ਹਟ ਵਕ ਵਕਹੜਤ ਅਨਤਮਭਨ ਸਹਤ ਹਨ ਅਤਤ ਵਕਹੜਤ ਗਲਤ ਹਨ।

 ਚਤਤਰਭਤਜ ਬਣਭਓ।

     ਚਤਤਰਭਤਜ ਦਤ ਅਮਦਰ ਇਕ ਵਵਕਰਣ (Diagonal) ਬਣਭਉ,        ਜਕ ਵਕ ਇਸਨ ਦਕ ਵਤਕਕਣਭ ਵਵਵਚ ਵਮਡ ਦਤਵਤਗਤ।

 ਵਚਵਤਰ 1 ਵਤਖਕ।
(    ਇਥਤ ਅਸਤੜ ਦਕ ਵਵਖ-      ਵਵਖ ਵਕਸਮਟ ਦਤ ਚਤਤਰਭਤਜ ਬਣਭਏ ਹਨ।) 
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We see that  every quadrilateral  can be split  into two triangles  in  this  way.  We know that  for
constructing a unique triangle we need three minimum conditions.

                ਅਸਤੜ ਵਤਖਦਤ ਹਟ ਵਕ ਹਰ ਚਤਤਰਭਤਜ ਨ ਇਸ ਤਰਤਕਤ ਨਭਲ ਦਕ ਵਤਕਕਣਭ ਵਵਵਚ ਵਮਵਡਆ ਜਭ ਸਕਦਭ ਹਸ       । ਅਸਤੜ ਜਭਣਦਤ ਹਟ ਵਕ ਸਮਰਰਪ ਵਤਕਕਣ

   ਬਨਭਉਣ ਲਈ ਸਭਨ ਘਵਟਕੜ-      ਘਵਟ ਵਤਮਨ ਸਰਤਟ ਦਤ ਜਰਰਰਤ ਹਸ।

So in this case, to construct the first triangle we needed three minimum conditions. For the next
triangle, we need three more, but as one side overlaps, we need only two conditions to construct a
triangle congruent to the second triangle. These can be, for example, one side and the angle it
makes with the adjacent side of the quadrilateral. Alternatively, one can also give two angles.

    ਇਸ ਲਈ ਇਸ ਸਵਥਤਤ ਵਵਵਚ,        ਪਵਹਲਤ ਵਤਕਕਣ ਨ ਬਨਭਉਣ ਲਈ ਸਭਨ ਵਤਮਨ ਘਵਟਕੜ-     ਘਵਟ ਸਰਤਟ ਦਤ ਲਕੜ ਸਤ      । ਦਤਸਰਤ ਵਤਕਕਣ ਲਈ ਵਤ ਸਭਨ

 ਵਤਮਨ ਘਵਟਕੜ-     ਘਵਟ ਸਰਤਟ ਦਤ ਲਕੜ ਪਵਤਗਤ,      ਪਰ ਵਕਉੜਵਕ ਇਵਕ ਭਤਜ ਸਟਝਤ ਹਸ,          ਦਰਜਤ ਵਤਕਕਣ ਦਤ ਸਮਰਰਪ ਵਤਕਕਣ ਬਣਭਉਣ ਲਈ ਸਭਨ ਵਸਰਫ ਦਕ

   ਸਰਤਟ ਦਤ ਲਕੜ ਹਸ   । ਇਹ ਸਰਤਟ,  ਉਦਭਹਰਨ ਵਜਕੜ,               ਇਕ ਭਤਜਭ ਅਤਤ ਇਵਕ ਕਕਣ ਜਕ ਚਤਤਰਭਤਜ ਦਤ ਨਭਲ ਲਵਗਦਤ ਪਭਸਤ ਦਤ ਨਭਲ ਬਣਭਉੜਦਭ ਹਸ , ਜਟ
     ਦਕ ਕਕਣ ਵਤ ਹਕ ਸਕਦਤਆ ਹਨ।

Another  way  of  thinking  about  this  is,  once  we  fix  the  first  triangle,  three  vertices  of  the
quadrilateral are fixed. So to fix the remaining vertex, two conditions (as in the examples above)
are sufficient.  Hence these five conditions are  the minimum pieces of  information needed to
construct a quadrilateral.  

       ਇਸ ਬਭਰਤ ਸਕਚਣ ਦਭ ਇਕ ਹਕਰ ਤਰਤਕਭ ਹਸ,             ਇਕ ਵਭਰ ਜਦਕੜ ਅਸਤੜ ਪਵਹਲਤ ਵਤਕਕਣ ਲਈ ਸਰਤਭ ਤਸਅ ਕਰ ਲਸੜਦਤ ਹਟ,    ਚਤਤਰਭਤਜ ਦਤ ਵਤਮਨ

 ਕਕਣਵਬਮਦਰ (Vertex)    ਵਨਸਵਚਤ ਹਕ ਜਟਦਤ ਹਨ        । ਇਸ ਲਈ ਬਭਕਤ ਦਤ ਕਕਣਵਬਮਦਰ ਦਤ ਲਈ,   ਦਕ ਸਰਤਟ (     ਵਜਵਤੜ ਵਕ ਉਪਕਕਰਤ ਉਦਭਹਰਨ ਵਵਵਚ)
 ਕਭਫਤ ਹਨ              । ਇਸ ਲਈਇਹ ਪਮਜ ਸਰਤਟ ਇਕ ਚਤਤਰਭਤਜ ਵਨਰਮਭਣ ਲਈ ਲਕੜਤੜਦਤ ਜਭਣਕਭਰਤ ਵਜਕੜ ਘਵਟਕੜ-   ਘਵਟ ਸਰਤਟ ਹਨ।

This also reconfirms our understanding of the minimum conditions needed to construct a unique
quadrilateral.

     ਇਹ ਵਵਲਖਣ ਚਤਤਰਭਤਜ ਵਨਰਮਭਣ ਲਈ ਘਵਟਕੜ-          ਘਵਟ ਸਰਤਟ ਦਤ ਸਭਡਤ ਸਮਝ ਦਤ ਪਤਸਟਤ ਵਤ ਕਰਦਭ ਹਸ।

What will happen if we do the same for a pentagon?

   ਜਤ ਅਸਤ ਪਮਜਭਤਜ (Pentagon)        ਲਈ ਵਤ ਅਵਜਹਭ ਕਰਦਤ ਹਟ ਤਟ ਕਤ ਹਕਵਤਗਭ?  

Let us draw a pentagon and see how many triangles the pentagon can be
split into by drawing a minimum number of diagonals. We see from figure
2 that  by  drawing two diagonals,  the pentagon can be split  into three
triangles. 

         ਆਓ ਇਕ ਪਮਜਭਤਜ ਬਣਭਈਏ ਅਤਤ ਵਤਖਤਏ ਵਕ ਪਮਜਭਜ ਨ ਘਵਟਕੜ-      ਘਵਟ ਵਵਕਰਣ ਬਣਭ ਕਤ ਵਕਮਨਤ ਵਤਕਕਣਭ

    ਵਵਚ ਵਮਵਡਆ ਜਭ ਸਕਦਭ ਹਸ    । ਅਸਤੜ ਵਚਵਤਰ 2          ਤਕੜ ਵਤਖਦਤ ਹਟ ਵਕ ਦਕ ਵਵਕਰਣ ਵਖਵਚਣ ਨਭਲ ਪਮਜਭਤਜ ਨ

      ਵਤਮਨ ਵਤਕਕਣਭ ਵਵਚ ਵਮਵਡਆ ਜਭ ਸਕਦਭ ਹਸ।

For the first triangle we need three conditions, for the second triangle we
need another  three,  but  then one side overlaps so we need only  two.  Similarly,  for  the third
triangle, we need two more conditions.

        ਪਵਹਲਤ ਵਤਕਕਣ ਲਈ ਸਭਨ ਵਤਮਨ ਸਰਤਟ ਦਤ ਜਰਰਰਤ ਹਸ,            ਦਰਸਰਤ ਵਤਕਕਣ ਲਈ ਵਤ ਸਭਨ ਹਕਰ ਵਤਮਨ ਸਰਤਟ ਦਤ ਜਰਰਰਤ ਹਸ,    ਪਰ ਇਕ ਪਭਸਭ

            ਸਟਝਭ ਹਕਣ ਕਰਕਤ ਸਭਨ ਉਸ ਵਤਕਕਣ ਵਭਸਤਤ ਵਸਰਫ ਦਕ ਸਰਤਟ ਦਤ ਜਰਰਰਤ ਹਸ       । ਇਸ ਤਰਰਹਟ ਤਤਸਰਤ ਵਤਕਕਣ ਲਈ ਵਤ,    ਸਭਨ ਦਕ ਹਕਰ ਸਰਤਟ

  ਦਤ ਜਰਰਰਤ ਹਸ।

So, you can see that whenever you add a triangle,  you add two conditions.  So,  the minimum
conditions necessary for constructing a unique pentagon, are seven (3 + 2 + 2). 
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                  ਇਸ ਤਰਰਹਟ ਤਤਸਤੜ ਵਤਖ ਸਕਦਤ ਹਕ ਵਕ ਜਦਕੜ ਵਤ ਤਤਸਤੜ ਕਕਈ ਵਤਕਕਣ ਜਕੜਨ ਤਤ ਤਤਹਭਨ ਦਕ ਸਰਤਟ ਜਕੜਨਤਆ ਪਸਣਗਤਆ   । ਇਸ ਲਈ,  ਇਕ
     ਵਵਲਖਣ ਪਮਜਭਤਜ ਬਣਭਉਣ ਲਈ ਜਰਰਰਤ ਘਵਟਕੜ-  ਘਵਟ ਸਰਤਟ,  ਸਵਤ ਹਨ(3+2+2)।

Let us try to figure this out for hexagons, heptagons, and octagons. 

ਆਓ,   ਅਸਤੜ ਛਤਭਤਜ (Hexagon),  ਸਵਤਭਤਜ (Heptagon)   ਅਤਤ ਅਵਠਭਤਜ (Octagon)      ਲਈ ਵਤ ਜਭਣਨ ਦਤ ਕਕਵਸਸ ਕਰਤਏ  ।

2.  How  many  triangles  can  a  hexagon  be  split  into?
(Remember that the number of diagonals drawn must be a
minimum.) ___________________

2.           ਇਕ ਛਤਭਤਜ ਨ ਵਕਮਨਤ ਵਤਕਕਣਭ ਵਵਚ ਵਮਵਡਆ ਜਭ ਸਕਦਭ ਹਸ?(    ਯਭਦ ਰਵਖਕ ਵਕ ਵਖਵਚਤ

    ਗਏ ਵਵਕਰਣਟ ਦਤ ਵਗਣਤਤ ਘਵਟਕੜ-    ਘਵਟ ਹਕਣਤ ਚਭਹਤਦਤ ਹਸ।)___________________

3.  What  is  the  minimum  number  of  conditions  needed  to  construct  unique  hexagons?
___________________

3.      ਵਵਵਲਖਣ ਛਤਭਤਜ ਬਣਭਉਣ ਲਈ ਵਕਮਨਤਆ ਘਵਟਕੜ-      ਘਵਟ ਸਰਤਟ ਦਤ ਜਰਰਰਤ ਹਸ ? ___________________
4. Why?
4. ਵਕਉੜ?
5. How many triangles can a heptagon be split into?
___________________
5.          ਇਕ ਸਵਤਭਤਜ ਨ ਵਕਮਨਤ ਵਤਕਕਣਭ ਵਵਚ ਵਮਵਡਆ ਜਭ ਸਕਦਭ ਹਸ?
 ___________________   
6. What is the minimum number of conditions needed to construct
unique heptagon?    ___________________
6.      ਵਵਲਖਣ ਸਵਤਭਤਜ ਬਣਭਉਣ ਲਈ ਘਵਟਕੜ-      ਘਵਟ ਵਕਮਨਤਆ ਸਰਤਟ ਦਤ ਜਰਰਰਤ ਹਸ?
___________________
7. Why?
7. ਵਕਉੜ?

8. How many triangles can an octagon be split into?
_________________

8.         ਅਵਠਭਤਜ ਨ ਵਕਮਨਤਆ ਵਤਕਕਣਟ ਵਵਚ ਵਮਵਡਆ ਜਭ ਸਕਦਭ ਹਸ?

_________________

9. What is the minimum number of conditions needed to 
construct congruent octagon?         ___________________

9.       ਸਮਰਰਪ ਅਵਠਭਤਜ ਦਤ ਵਨਰਮਭਣ ਕਰਨ ਲਈ ਘਵਟਕੜ-  ਘਵਟ ਵਕਮਨਤਆ    ਸਰਤਟ ਦਤ ਜਰਰਰਤ ਹਸ?
_________________

10. Why?

10. ਵਕਉੜ?

It is interesting to see what is the minimum information needed to construct a unique polygon.
Let us start with a polygon with n sides. To fix the first three vertices, we need three conditions.
For  each  of  the  n -  3  remaining  vertices,  we  need  at  least  two  pieces  of  information  or
conditions. Hence we need at least 2(n - 2) + 3 = 2n – 3 conditions. But the process of dividing
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the polygon into n – 2 triangles tells us that 2n -3 conditions are sufficient to construct a unique
polygon. So, the number of minimum conditions required to construct a unique polygon is 2n-3.

          ਇਹ ਵਤਖਣਭ ਵਦਲਚਸਪ ਹਸ ਵਕ ਵਵਲਵਖਣ ਬਹਤਭਤਜ ਬਣਭਉਣ ਲਈ ਕਤ ਘਵਟਕੜ-     ਘਵਟ ਜਭਣਕਭਰਤ ਦਤ ਜਰਰਰਤ ਹਸ   । ਆਓ n   ਭਤਜਭਵਟ ਵਭਲਤ

   ਬਹਤਭਤਜ ਨਭਲ ਸਤਰਰਆਤ ਕਰਤਏ      । ਪਵਹਲਤ ਵਤਮਨ ਕਕਣਵਬਮਦਰ ਲਭਉਣ ਲਈ,      ਸਭਨ ਵਤਮਨ ਸਰਤਟ ਚਭਹਤਦਤਆ ਹਨ   । ਹਰਤਕ n-3  ਬਭਕਤ ਕਕਣ

 ਵਬਮਦਰ ਲਈ,   ਸਭਨ ਘਵਟਕੜ-      ਘਵਟ ਦਕ ਸਰਤਟ ਦਤ ਜਰਰਰਤ ਹਸ     । ਇਸ ਲਈ ਸਭਨ ਘਵਟਕੜ-  ਘਵਟ 2(n-2)+3=2n-3    ਸਰਤਟ ਦਤ ਜਰਰਰਤ ਹਸ  । ਪਰ

  ਬਹਤਭਤਜ ਨ n-2          ਵਤਕਕਣਭ ਵਵਚ ਵਮਡਣ ਵਭਲਤ ਪਵਰਕਵਰਆ ਸਭਨ ਦਵਸਦਤ ਹਸ ਵਕ 2n-3       ਸਰਤਟ ਵਵਲਵਖਣ ਬਹਤਭਤਜ ਬਣਭਉਣ ਲਈ ਕਭਫਤ ਹਨ।

      ਇਸ ਲਈ ਵਵਵਲਖਣ ਬਹਤਭਤਜ ਬਣਭਉਣ ਲਈ ਘਵਟਕੜ-     ਘਵਟ ਸਰਤਟ ਦਤ ਵਗਣਤਤ 2n-3 ਹਸ  ।

Suggested readings
1. Simple argument about the number of minimum conditions needed to construct congruent 

polygons     
  https://www.mathopenref.com/congr  uentpolygonstests.html                    

2.  A simulation to check congruent polygons by super-positioning
 https://www.mathopenref.com/congruentpolygons.html

3. Interesting examples of congruence
https://www.andrews.edu/~calkins/math/webtexts/geom07.htm

4. Detailed proof of why the number of minimum conditions needed to construct congruent n-
gons is 2n-3
http://www.amesa.org.za/amesal_n21_a12.pd  f
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